ENGLISH

User Manual

A170124

® HYDRAULIC FURNITURE MOVER 1800 KG

P ey

S SN
s
S

Allyouneed. With love.

ZAC du Parc des Tulipes
Avenue du 21¢ siécle - 95500 GONESSE - France
www.manutan.fr




TABLE OF CONTENTS

Application

Specifications

Assembly

Precautions and Preparation
Operation

Care and Maintenance

Parts List and Exploded Figure
For lifting height of 250MM (A170124)

Zﬁl NOTE:

The Hydraulic Furniture Mover is designed only for moving bulky or
heavy objects. Any other usage might result in damage to product
components or personal injury.




THANK YOU VERY MUCH FOR CHOOSING OUR HYDRAULIC FURNITURE MOVER.
FOR YOUR SAFETY AND CORRECT OPERATION, PLEASE CAREFULLY READ THIS USER
MANUAL BEFORE USE.

NOTE: All of the information reported herein is based on data available at the time of
printing. The factory reserves the right to modify its own products at any time without
notice or incurring in any sanction. Please verify with the factory for possible updates.

1. Application

The manual furniture mover has been developed for lifting and transporting cabinets
and other large regular objects. For this reason, its supports are covered with foam
rubber to prevent the goods being transported from damage.

Since the hydraulic furniture mover consists of two units, rectangular objects of varying
length can be moved using a minimum of space. Due to the weight of the cabinet on
the platform, it will hold itself in position when the units are standing vertically and
the frame of the platform is in contact with its sides.

The securing strap, which has to be fastened correctly on both sides, is an additional
absolute necessity.

The steering handles have a full lock of 180°, it means that goods can be transported
in every direction. The platforms are raised by operating the lever of the pump; this
lever must not be used for pulling or pushing the BIMOBIL. The platform is lowered
by twisting the manual release valve of the compact hydraulic system anti-clockwise.
Great care must be taken when lowering the platform, since the speed depends on
the aperture of the valve as well as the weight of the goods to be transported. Before
pumping up the system to raise the platforms the valve must be twisted clockwise
and make sure it is closed.

If you operate properly, our hydraulic furniture mover will help you to move cabinets,
furniture etc quickly and safely.

2. Specifications

Model Capacity Lifting Heigh | Lifting Plate Size | Net Weight

A170124 1800kg 250mm 600 x 60mm 86kg




3. Assembly

Remove the fork pin at the free end of the track rod, set the steering handles parallel
to each other, and push the fork of the track rod over the arm of the steering handle.
Then replace the previously - removed fork pin through the fork and arm and secure
it with split ring.

The second unit is assembled in the same way.

4, Precautions and Preparation

4.1  The floor must be absolutely level, smooth and clean. There must be no inclines
or slopes to be moved over. Make sure that the floor and the floor covering
are to stand up to the loading imposed by the weight of the furniture being
transported.

4.2  Check whether the cabinet or furniture to be transported contains any loose
objects. These will have to be removed, or secured against slopping out of
position.

4.3  Check whether the furniture is strong enough for the two opposite sides to take
the weight of the piece via the transport units’ platforms, and whether the upper
supports of the transport units can hold the furniture to be transport without
damaging it.

44 Find the weight of the furniture to be transported. The maximum load of

1800 kg/pair =900 kg for each unit must not be exceeded.

4.5 Find the center of gravity of the furniture to be transported. Along the furniture
base, it is the decisive for the load that a single transport unit can bear, across
the base, for the center of the transport unit, and, in connection with the height,
for the moment of tilting that occurs when moving the furniture. When in use,
the height of the center of gravity must not exceed 0.8m. The distance of the
transport units to one another must not be less than 0.5m and no more than
4.0m (furniture of the securing straps).

4.6  Never use this equipment for towing by a vehicle.

5. Operation

Before use, the transport components should be checked for function, and for any
damage. If there are visible defects, the components should not be used. Damaged
parts must be replaced.

Since the hydraulic furniture mover consists of two parts, it is necessary for two persons
to operate them.




Before transporting cabinets, the platforms should be lowered to the floor until the
transport units are standing vertically. Push the platform of the units under the side
faces (narrow faces) of the cabinet until the top and bottom of the transport platform
frame are resting against it. The centers of the platform must be beneath the center of
gravity of the cabinet.

Place the securing straps in position and tighten them. The straps will connect both
units and, when used correctly, prevent them from slipping out of their position. Here,
the strap ends must be under direct tension, that is, the straps must not be pulling
round the edge of a cabinet, etc. If necessary, an additional strap surrounding it must
be employed. This must be fed through the strap loops on the units. However, the
maximum overhang must not be more than 200 mm.

Pump up the platform about 1 cm, and carefully check whether the cabinet to be
transported is standing stably on the platforms. Maybe some adjustment should be
done.

Both platforms must be raised at the same time and to the same amount. For the
transport itself, the height off the floor must be a maximum of 2 cm only. When
moving the cabinets, only push the transport units and choose the way to the
cabinet’s new position so that, if possible, it is only moved lengthwise. When moving
cabinets sideways, always take the greatest care; there is a great risk of the cabinets
tilting over.

The cabinet being transport must not be left unattended standing on the equipment;
it must always be lowered onto the floor.

The securing straps may only be opened when the cabinet being transported, or the
platforms, is standing on the floor.

Never use this equipment for towing by a vehicle.

6. Care and Maintenance

Our hydraulic furniture mover only requires little care and maintenance, but this must
be carried out regularly. Depending on its use, the spindles and gear wheels must be
re-greased weekly or monthly.




7. Parts List & Exploded Figure

For Lifting Height of 250mm (A170124)

No Description Qty | No Description Qty
01 | Dust-proof Cover 4 |15 | Screw M6x20 2
02 | Cushion 2 | 16B | Split Ring 8 2
03 |Lock nut M10 2 | 17B | Pin 1
04 | Woven Stripe 1 | 18 | Dust-proof Ring 2
05 | Screw M10x70 2 | 19 | Bearing 8204 2
06B | Lifting Frame 1 | 20B | Supporting Rod 2
07 | Cargo Lashings 1 |21 Screw M12x85 2
08B | Supporting Frame 1 | 22 | Washer 12 2
09 | Nylon Washer 2 | 23 | Spring washer 12 2
10 | Cylindrical Spring Pin ®6x30| 2 | 24 | Nut M12 2
11 | Handle Assy 2 | 25 | Bushing 4
12 | Hand Tube 1 | 26 | Bushing 2
13 | SplitRing 9 2 | 27 | Bearing 2
14B | Hydraulic Jack 1 | 28 | Wheel 2




NEDERLANDS

Gebruikershandleiding

A170124

® HYDRAULISCHE HEF-STEEKWAGEN
MET EEN LAADVERMOGEN VAN 1800 KG

e
S /ﬁ\
’f//ﬁ
7z
Allyouneed. With love.
ZAC du Parc des Tulipes

Avenue du 21¢siécle - 95500 GONESSE - France
www.manutan.fr




INHOUD

Gebruik

Technische fiche

Montage

Voorzorgsmaatregelen en voorbereiding
Werking

Onderhoud

Lijsten van onderdelen & explosietekeningen
Voor een hefhoogte van 250mm (A170124)

A OPMERKING :

De hydraulische hef- en steekwagen dient enkel voor het verplaatsen
van grote of zware voorwerpen. Elke andere toepassing kan leiden tot
schade aan de onderdelen of persoonlijke verwondingen.




BEDANKT DAT U VOOR ONZE HYDRAULISCHE HEF- EN STEEKWAGEN KIEST.
LEES DEZE GEBRUIKERSHANDLEIDING VOOR UW VEILIGHEID EN EEN CORRECTE
WERKING AANDACHTIG VOOR GEBRUIK.

OPMERKING : Alle informatie die hierin is vermeld is gebaseerd op gegevens die op
het moment van afdrukken beschikbaar waren. De firma behoudt zich het recht voor
haar eigen producten op elk moment aan te passen zonder aankondiging en zonder
een sanctie te riskeren. Vraag na bij de fabriek of er mogelijke updates zijn.

1. Gebruik

De manuele hef- en steekwagen dient voor het optillen en vervoeren van kasten
en andere grote gewone voorwerpen. Daarom zijn de steunen met schuimrubber
bekleed om te vermijden dat de ladingen die worden vervoerd beschadigd geraken.

Aangezien de hydraulische hef- en steekwagen uit twee delen bestaat, kunnen
rechthoekige voorwerpen met verschillende afmetingen worden verplaatst door
slechts een minimale ruimte te benutten. Dankzij het gewicht van de kast op het
plateau houdt hij zichzelf op zijn plaats als de eenheden verticaal staan en het frame
van het plateau de zijkanten raakt.

De klembeugel die op de juiste manier aan beide kanten moet worden vastgemaakt,
is een bijkomende absolute vereiste.

De stuurhandvaten kunnen 180° worden gedraaid wat betekent dat ladingen in
alle richtingen kunnen worden vervoerd. De plateaus worden opgeheven door de
hefboom van de pomp te bedienen; die hefboom mag niet worden gebruikt om de
BIMOBIL te trekken of te duwen. Het plateau zakt door de manuele aflaatklep van het
compacte hydraulische systeem tegen de wijzers van de klok in te draaien. Let goed
op als u het plateau laat zakken aangezien de snelheid afhangt van de opening van
de klep en van het gewicht van de lading die moet worden vervoerd. Voordat u het
systeem oppompt om de plateaus op te heffen moet de klep met de klok mee draaien
en u ervan verzekeren dat hij gesloten is.

Als u hem goed gebruikt, helpt onze hydraulische hef- en steekwagen u kasten,
meubels enz. snel en veilig te verplaatsen.

2.Technische fiche

Model Capaciteit Hefhoogte Afmetingen Netto
plateau gewicht

A170124 1800kg 250mm 600 x 60mm 86kg




3. Montage

Verwijder de gaffelpen aan het vrije eind van de koppelstang, plaats de stuurhandvaten
evenwijdig met elkaar en duw de vork van de koppelstang over de arm van het
stuurhandvat. Vervang vervolgens de juist verwijderde gaffelpen door de vork en de
arm en zet het vast met een sleufring.

Het tweede deel moet op dezelfde manier in elkaar gezet worden.

4.Voorzorgsmaatregelen en voorbereiding

4.1  De vloer moet helemaal vlak, glad en schoon zijn. Er mogen geen helligen zijn
waar het toestel over moet. Verzeker u ervan dat de vloer en de vioerbekleding
het gewicht van de meubels die worden verplaatst, kan verdragen.

42  Controleer of de kast of het meubel dat moet worden vervoerd losse voorwerpen
bevat. Die moeten worden verwijderd, of vastgezet zodat ze niet kunnen
verschuiven.

4.3 Controleer of de twee tegenoverliggende kanten van de hef- en steekwagen
sterk genoeg zijn om het gewicht van het meubel via de plateaus van
de transporteenheden te verplaatsen en of de bovenste steunen van de
transporteenheden het meubel dat moet worden verplaatst kunnen vasthouden
zonder het te beschadigen.

44 Bereken het gewicht van het meubel dat moet worden verplaatst. Het
maximale gewicht van 1800 kg/paar =900 kg per transporteenheid mag niet
overschreden worden.

45 Zoek het zwaartepunt van het meubel dat moet worden verplaatst. De
zijkant van het voetstuk van het meubel is beslissend voor de lading die
één transporteenheid kan dragen, over het voetstuk, voor het midden van
de transporteenheid, en, in verband met de hoogte, op het moment van
overhellen dat plaatsvindt als het meubel wordt verplaatst. Als u het toestel
gebruikt mag het zwaartepunt niet hoger dan 0,8 m zijn. De afstand tussen
de transporteenheden mag niet minder dan 0,5 m en niet meer dan 4,0 m zijn
(meubilair van de klembeugels).

4.6 Laat dit toestel nooit door een voertuig voortslepen.

5. Werking

Voordat u het toestel gebruikt, moet u de functie van de componenten controleren en
controleren of ze niet beschadigd zijn. Als u fouten ziet, gebruik de componenten dan
niet. Beschadigde onderdelen moeten worden vervangen.

Aangezien de hydraulische hef- en steekwagen uit twee delen bestaat, moet hij door
twee personen worden bediend.

Voordat u kasten verplaatst, moet u de plateaus laten zakken tot de transporteenheden
verticaal staan.




Duw het plateau van de eenheden onder de zijkanten (smalle zijden) van de kast tot
de boven- en onderkant van het geraamte van het transportplateau ertegen steunen.
Plaats de kast zo dat het zwaartepunt zich boven het midden van het plateau bevindt.

Plaats de klembeugels op hun plaats en klem ze vast. De klembeugels verbinden
beide eenheden en als ze correct worden gebruikt verhinderen ze dat de eenheden
van hun plaats schuiven. Hier moeten de einden van de klembeugels onder directe
spanning staan, dat wil zeggen, de klembeugels mogen niet om de rand van een kast
enz. trekken. Gebruik, indien nodig, een bijkomende klembeugel die errond zit. Dit
moet door de lussen van de beugels op de eenheden. Het overhangend gedeelte mag
niet meer dan 200 mm zijn.

Pomp het plateau ongeveer 1 cm op en controleer nauwkeurig of de kast die
moet worden vervoerd stabiel op de plateaus staat. Misschien moeten er enkele
aanpassingen worden gedaan.

Beide plateaus moeten tegelijkertijd en en even hoog worden opgeheven. Tijdens het
vervoeren zelf moeten ze zich maar maximaal 2 cm boven de vloer bevinden. Als u
de kasten verplaatst, duw dan enkel de transporteenheden en kies, indien mogelijk,
uw weg zo dat de kast -enkel in de lengte wordt verplaatst. Als u kasten zijwaarts
verplaatst, let dan altijd heel goed op; er is een grote kans dat de kasten omkantelen.

Het meubel dat wordt verplaatst mag niet onbewaakt blijven staan op het toestel; u
moet het ook altijd terug naar beneden laten zakken.

De klembeugels mogen enkel worden geopend als de kast wordt verplaatst of de
plateaus op de grond steunen.

Laat dit toestel nooit door een voertuig voortslepen.

6. Onderhoud

Deze hydraulische hef- en steekwagen moet enkel regelmatig een onderhoudsbeurt
krijgen. Afhankelijk van het gebruik moeten de spillen en tandwielen wekelijks of
maandelijks opnieuw worden gesmeerd.




7. Lijsten van onderdelen & Explosietekeningen

Xoor een hefhoogte van 250mm (A170124)

Nr. Beschrijving Aan.| Nr. Beschrijving Aan.
01 | Stofdichte bekleding 4 | 15 | Schroef M6X20 2
02 | Schokdemping 2 | 16B | Sleufring 8 2
03 | Borgmoer M10 2 | 17B | Pin 1
04 | Geweven zoomlint 1 | 18 | Stofdichtering 2
05 | Schroef M10X70 2 | 19 | Lager8204 2
06B | Hefgeraamte 1 | 20B | Ondersteunende stang 2
07 | Formeelhaak van de lading 1 | 21 | Schroef M12X85 2
08B | Ondersteunend geraamte 1 |22 | Borgring 12 2
09 | Nylon borgring 2 | 23 | Klemring 12 2
10 | Cilindrische verende stiftd6X30| 2 | 24 | Moer M12 2
11 | Ass. handgreep 2 | 25 | Eenbusaanbrengen 4
12 | Handvat 1 | 26 | Eenbusaanbrengen 2
13 | Sleufring 9 2 | 27 | Lager 2
14B | Hydraulische vijzel 1 |28 | Wiel 2




FRANCAIS

Manuel de l'utilisateur

A170124

m | ES 2 DIABLES ELEVATEURS 1800 KG

P el

i
o

All youneed. With love.

ZAC du Parc des Tulipes
Avenue du 21¢ siécle - 95500 GONESSE - France
www.manutan.fr




TABLE DES MATIERES

Application

Spécifications

Assemblage

Mesures de précaution et préparation
Fonctionnement

Soins et entretien

Liste des piéces et vue éclatée
En cas de hauteur de levage de 250 mm (A170124)

A REMARQUE :

Les deux diables élévateurs sont uniquement congus pour déplacer
des objets lourds ou volumineux. Toute autre utilisation risque
d'entrainer des dommages aux éléments du produit ou des blessures
corporelles.




NOUS VOUS REMERCIONS D’AVOIR CHOISI NOS DIABLES ELEVATEURS. POUR
VOTRE SECURITE ET POUR GARANTIR UNE MANIPULATION CORRECTE, VEUILLEZ
LIRE ATTENTIVEMENT CE MANUEL DE L'UTILISATEUR AVANT TOUTE UTILISATION.

REMARQUE : Toutes les informations présentées dans ce manuel sont basées sur
les données disponibles au moment de I'impression. Le fabricant se réserve le droit
de modifier ses produits a tout moment sans préavis et sans encourir de sanctions.
Veuillez dés lors vous informer auprés du fabricant des éventuelles mises a jour.

1. Application

Les deux diables élévateurs ont été congus pour le levage et le déplacement de
meubles et d'autres objets courants de grande taille. C'est la raison pour laquelle
leurs supports sont recouverts de caoutchouc mousse pour éviter que les articles
transportés soient endommagés.

Dans la mesure ou ces diables élévateurs comprennent deux unités, il est possible de
déplacer des objets rectangulaires de différentes longueurs en utilisant un minimum
d’espace. En raison du poids du meuble sur la plate-forme, celui-ci tient en position
lorsque les unités sont a la verticale et que le cadre de la plate-forme est en contact
avec les c6tés du meuble.

L'utilisation de la sangle de fixation, qui doit étre correctement serrée des deux cotés,
est impérative.

Les poignées de commande sont orientables a 180°, ce qui signifie que les articles
peuvent étre transportés dans nimporte quelle direction. Pour lever les plates-formes,
utilisez le levier de la pompe. Ce levier ne doit pas étre utilisé pour pousser ou tirer
les diables élévateurs. Pour abaisser la plate-forme, tournez le détendeur de pression
manuel du systeme hydraulique compact dans le sens contraire des aiguilles d'une
montre. Soyez extrémement prudent lorsque vous abaissez la plate-forme car la
vitesse dépend de l'ouverture de la soupape, ainsi que du poids des marchandises
transportées. Avant de pomper pour lever les plates-formes, tournez la soupape dans
le sens des aiguilles d'une montre et assurez-vous qu'elle est fermée.

Sivous les utilisez correctement, nos diables élévateurs vous permettront de déplacer
des armoires, des meubles, etc. de maniére rapide et en toute sécurité.

2. Spécifications

Modéle Capacité Hauteur de Taille de la Poids net
levage plaque de levage

A170124 1800kg 250mm 600 x 60mm 86kg




3. Assemblage

Retirez la goupille de la fourche a I'extrémité libre de la tige de renfort, placez les
poignées de commande parallelement, et poussez la fourche de la tige de renfort
sur le bras de la poignée de commande. Remettez ensuite en place la goupille de la
fourche retirée précédemment a travers la fourche et le bras et maintenez-la en place
a l'aide d’une bague fendue.

Assemblez le deuxiéme diable de la méme facon.

4. Mesures de précaution et préparation

4.1 Le sol doit étre parfaitement de niveau, lisse et propre. Aucune inclinaison ou
pente ne doit étre franchie. Assurez-vous que le sol et le revétement de sol sont
a méme de supporter la charge imposée par le poids du meuble transporté.

42 Vérifiez que l'armoire ou le meuble a transporter ne renferme aucun objet
pouvant bouger librement. Ceux-ci doivent étre retirés ou fixés en place afin
d’éviter qu'ils ne glissent en tous sens.

43  Vérifiez que le meuble est suffisamment solide pour permettre aux deux cotés
opposés de supporter son poids sur les plates-formes des unités de transport
et que les supports supérieurs des unités de transport peuvent maintenir le
meuble a transporter en place sans I'endommager.

44 Déterminez le poids du meuble a transporter. La charge maximale de 1 800 kg/
paire, soit 900 kg par diable, ne doit pas étre dépassée.

45 Déterminez le centre de gravité du meuble a transporter. La détermination du
centre de gravité est essentielle pour déterminer la charge que peut supporter
une unité de transport unique et doit étre prise en compte en connexion avec la
hauteur au moment ou le meuble est incliné en vue d'étre déplacé. La hauteur
du centre de gravité ne doit pas dépasser 0,8 m. La distance entre les unités de
transport doit étre comprise entre 0,5 m et 4 m (pour permettre I'utilisation des
sangles de fixation).

4.6 N'utilisez jamais cet équipement pour une opération de remorquage par un
véhicule.

5. Fonctionnement

Avant toute utilisation, vérifiez le fonctionnement des composants de transport
et 'absence de dégats. En cas de défauts visibles, n'utilisez pas les composants. Les
pieces endommagées doivent étre remplacées.

Dans la mesure ou les diables élévateurs sont constitués de deux parties, il est
nécessaire de faire appel a deux personnes pour les manipuler.

Avant de transporter des armoires, abaissez les plates-formes jusqu'au sol jusqu’a ce
que les unités de transport soient en position verticale.




Mettez les sangles de fixation en position et serrez-les. Les sangles relient les deux
unités et, si elles sont utilisées correctement, empéchent les unités de quitter leur
position. Les extrémités des sangles doivent étre sous tension directe. Autrement
dit, les sangles ne doivent pas étre placées autour des bords d'un meuble, etc. Si
nécessaire, utilisez une sangle supplémentaire. Insérez celle-ci dans les boucles pour
sangles présentes sur les unités. Le surplomb maximum ne doit cependant pas étre
supérieur a 200 mm.

Pompez pour lever la plate-forme d'environ 1 cm et vérifiez attentivement que le
meuble a transporter repose de maniére stable sur les plates-formes. Des ajustements
pourraient s'avérer nécessaires.

Les deux plates-formes doivent étre levées en méme temps et dans la méme mesure.
Lors du transport lui-méme, la hauteur par rapport au sol doit étre au maximum de 2
cm. Lorsque vous déplacez les meubles, poussez uniquement les unités de transport
et choisissez un trajet qui permette, dans la mesure du possible, de déplacer le meuble
dans le sens de la longueur uniquement. Si vous déplacez le meuble de c6té, soyez
toujours extrémement prudent car le risque de voir le meuble pencher est grand.

Le meuble transporté ne doit pas étre laissé sans surveillance sur I'équipement et doit
toujours étre abaissé jusqu’au sol.

Les sangles de fixation ne doivent étre ouvertes que lorsque le meuble transporté ou
les plates-formes reposent sur le sol.

N'utilisez jamais cet équipement pour une opération de remorquage par un véhicule.

6. Soins et entretien

Ces deux diables élévateurs ne requiérent que des soins et des entretiens limités, mais
ceux-ci doivent étre effectués régulierement. Selon I'utilisation qui est faite de ces
diables, les axes et les roues dentées doivent étre regraissés une fois par semaine ou
par mois.




7. Vue éclatée et liste des piéces

En cas de hauteur de levage de 250 mm (A170124)

N° Description Qté | N° Description Qté
01 | Cache anti-poussiéres 4 115 |VisM6x20 2
02 | Coussinet 2 | 16B | Bague fendue 8 2
03 | Visde serrage M10 2 | 17B | Goupille 1
04 | Bande tissée 1 | 18 | Bague anti-poussiéres 2
05 |VisM10x70 2 | 19 | Roulement 8204 2
06B | Cadre de levage 1 | 20B | Tige de soutien 2
07 | Saisines pour charge 1 121 |VisM12x85 2
08B | Cadre de soutien 1 | 22 | Rondelle 12 2
09 | Rondelle en nylon 2 | 23 | Rondelle a ressort 12 2
10 | Goupille a ressort cylindrique ®6x30 | 2 | 24 | Ecrou M12 2
11 | Ensemble poignée 2 | 25 | Bague 4
12 | Tube de poignée 1 |26 | Bague 2
13 | Bague fendue 9 2 | 27 | Roulement 2
14B | Vérin de levage hydraulique 1 |28 | Roue 2




ITALIANO

Manuale dell'utente

A170124

B CARRELLI ELEVATORI ACCOPPIATI PORTATA 1800 KG

(

/ﬂ\

S

All you need. With love.

ZAC du Parc des Tulipes
Avenue du 21¢ siécle - 95500 GONESSE - France
www.manutan.fr

\=




INDICE

Applicazione

Specifiche

Montaggio

Precauzioni e preparazione
Funzionamento

Cura e manutenzione

Elenco dei componenti e figura esplosa
Per un’altezza di sollevamento di 250 mm (A170124)

A NOTA:

| carrelli elevatori accoppiati sono studiati solo per la movimentazione
di oggetti ingombranti o pesanti. Qualsiasi altro utilizzo puo
comportare danni ai componenti del prodotto o lesioni alla persona.




GRAZIE PER AVER SCELTO | NOSTRI CARRELLI ELEVATORI ACCOPPIATI. PER LA PROPRIA
SICUREZZA E PER IL CORRETTO FUNZIONAMENTO DEL DISPOSITIVO, LEGGERE
ATTENTAMENTE IL MANUALE PRIMA DELL'USO.

NOTA: Tutte le informazioni contenute nel presente documento sono basate sui dati
disponibili al momento della stampa. Il produttore si riserva il diritto di modificare
i propri prodotti in qualsiasi momento senza preavviso e senza incorrere in alcuna
sanzione. Verificare presso la ditta la disponibilita di aggiornamenti.

1. Applicazione

| carrelli accoppiati sono stati studiati per il sollevamento e il trasporto di armadi o di
altri oggetti regolari di grandi dimensioni. Per questo motivo, i supporti sono rivestiti
di gomma espansa per evitare danni agli articoli trasportati.

Poiché il dispositivo € formato da due carrelli, & possibile trasportare oggetti
rettangolari di diverse lunghezze utilizzando uno spazio ridotto. A causa del peso
dell'armadio trasportato sulla piattaforma, questo si manterra in posizione quando
i carrelli sono verticali e il telaio della piattaforma & a contatto con i lati dell'oggetto
trasportato.

La cinghia di fissaggio, che deve essere fissata correttamente su entrambi i lati, & un
accessorio di assoluta necessita.

Le maniglie di guida possono essere ruotate di 180°, il che significa che e possibile
trasportare gli articoli in qualsiasi direzione. Per sollevare le piattaforme, utilizzare
la leva della pompa, che non deve essere utilizzata per spingere o tirare i carrelli
elevatori. Per abbassare la piattaforma, ruotare la valvola di pressione manuale del
sistema idraulico compatto in senso antiorario. Prestare particolare attenzione quando
si abbassa la piattaforma, poiché la velocita dipende dall'apertura della valvola e dal
peso delle merci trasportate. Prima di pompare per sollevare le piattaforme, ruotare la
valvola in senso orario e assicurarsi che sia chiusa.

Se utilizzati correttamente, i carrelli elevatori consentono di spostare armadi, mobili e
altro ancora in modo rapido e sicuro.

2. Specifiche

Modello Portata Altezza di Dimensioni delle Peso netto
sollevamento | piastre di sollevamento

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montaggio

Rimuovereil perno dellaforcellasull'estremita libera del tirante longitudinale, orientare
le maniglie di guida parallelamente e spingere la forcella del tirante longitudinale sul
braccio della maniglia di guida. Quindi sostituire il perno della forcella rimosso in
precedenza attraverso la forcella e il braccio e fissarlo con un anello a copiglia.

Montare il secondo carrello in modo analogo.

4.1

4.2

43

44

4.5

4.6

4, Precauzioni e preparazione

Il pavimento deve essere sempre perfettamente in piano, uniforme e pulito.
Non utilizzare i carrelli su inclinazioni o pendenze. Assicurarsi che il pavimento e
il rivestimento dello stesso siano in grado di reggere il carico imposto dal peso
del mobile trasportato.

Verificare che l'armadio o il mobile trasportato non contenga oggetti che
possano cadere. Eventuali oggetti devono essere rimossi o bloccati per evitare
che possano scivolare.

Verificare che il mobile sia abbastanza solido da permettere ai due lati opposti di
reggere il peso sulle piattaforme dei due carrelli e che i supporti superiori siano
in grado di trasportare il mobile senza danneggiarlo.

Individuare il peso del mobile da trasportare. Il carico massimo di
1800 kg/coppia =900 kg per carrello non deve essere superato.

Individuare il baricentro del mobile da trasportare. La determinazione del
baricentro e essenziale per determinare il carico che puo sostenere un singolo
carrello e che deve essere preso in considerazione insieme all'altezza quando il
mobile viene inclinato per essere spostato. Durante I'uso, I'altezza del baricentro
non deve superare 0,8 m. La distanza tra i carrelli non deve essere inferiore a 0,5
m e non deve superare 4,0 m (per consentire I'uso delle cinghie di fissaggio).

Non consentire mai il rimorchio del dispositivo dietro un veicolo.

5. Funzionamento

Prima dell'uso, verificare i componenti di trasporto e l'assenza di danni. In caso di
difetti visibili, non utilizzare i componenti. | pezzi danneggiati devono essere sostituiti.

Poiché i carrelli elevatori sono formati da due parti, & necessario l'intervento di due
persone per utilizzarli.




Prima del trasporto di un armadio, abbassare le piattaforme fino a terra finché i carrelli
non sono in posizione verticale. Spingere la piattaforma dei carrelli sotto le superfici
laterali (parte stretta) dell'armadio finché la parte superiore e la parte inferiore del
telaio della piattaforma di trasporto non poggiano contro il mobile. Il centro della
piattaforma deve trovarsi sotto il baricentro dell'armadio.

Sistemare le cinghie di fissaggio nella corretta posizione e serrarle. Le cinghie
colleganoidue carrelli e se utilizzate correttamente, impediscono a questi di spostarsi.
Le estremita delle cinghie devono essere in tensione diretta, ovvero non devono
essere avvolte intorno ai bordi di un armadio ecc. Se necessario, utilizzare una cinghia
aggiuntiva intorno al mobile inserendola nei passanti della cinghia posti sui carrelli. In
ogni caso, la sporgenza massima non deve superare 200 mm.

Pompare per sollevare le piattaforme di circa 1 cm e verificare accuratamente che
l'armadio trasportato sia saldamente fissato sulle piattaforme. Potrebbe essere
necessario procedere a delle regolazioni.

Entrambe le piattaforme devono essere sollevate contemporaneamente e alla stessa
altezza. Per il trasporto, I'altezza da terra deve essere al massimo di 2 cm. Quando
si sposta l'armadio, spingere solo i carrelli e scegliere un tragitto che consenta, per
quanto possibile, di spostare I'armadio solo nel senso della lunghezza. Quando si
sposta I'armadio lateralmente, prestare la massima attenzione per evitare di correre
il rischio di rovesciarlo.

L'armadio trasportato non deve essere lasciato incustodito sui carrelli e deve sempre
essere riportato a terra.

Le cinghie di fissaggio devono essere slacciate solo quando il mobile trasportato o le
piattaforme poggiano a terra.

Non autorizzare mai il rimorchio del dispositivo dietro un veicolo.

6. Cura e manutenzione

| due carrelli accoppiati richiedono solo una cura e interventi manutenzione ridotti,
che devono essere tuttavia effettuati regolarmente. A seconda dell'uso, i mandrini e le
ruote dentate devono essere lubrificati una volta alla settimana o al mese.




7. Elenco dei componenti e vista esplosa

Per un'altezza di sollevamento di 250 mm (A170124

N. Descrizione Qta | N. Descrizione Qta
01 | Coperchio parapolvere 4 | 15 | Vite M6x20 2
02 | Cuscinetto di protezione 2 | 16B | Anello a copiglia 8 2
03 | Dado M10 2 | 17B | Perno 1
04 | Nastro ditessuto 1 | 18 | Anello parapolvere 2
05 |Vite M10x70 2 | 19 | Cuscinetto 8204 2
06B | Telaio di sollevamento 1 | 20B | Astadisupporto 2
07 | Ancoraggio di carico 1 |21 | Vite M12x85 2
08B | Telaio di supporto 1 | 22 | Rondella 12 2
09 | Rondella di nylon 2 | 23 | Rondellaamolla 12 2
10 | Pernoamollacilindrico®6x30| 2 | 24 | Dado M12 2
11 | Gruppo maniglia 2 | 25 | Boccola 4
12 | Tubo della maniglia 1 | 26 | Boccola 2
13 | Anello a copiglia 9 2 | 27 | Cuscinetto 2
14B | Martinetto idraulico 1 | 28. | Ruota 2




PORTUGUES

Manual do Utilizador

A170124

B PORTA-CARGAS EMPILHADOR GEMINADO DE 1800 KG

P el

://—\l\

Hordo
7

All you need. With love.

ZAC du Parc des Tulipes
Avenue du 21¢ siécle - 95500 GONESSE - Franca
www.manutan.fr




INDICE

Aplicacdo

Especificacdes
Montagem

Precaucbes e Preparacao
Funcionamento
Cuidado e Manutencao

Lista de pecas e Imagem explodida
Para altura de elevacdo de 250MM (A170124)

A NOTA:

O porta-cargas empilhador geminado foi projetado apenas para
deslocar objetos pesados ou volumosos. Qualquer outra utilizacdo
pode resultar em danos aos componentes do produto ou lesdes
pessoais.




OBRIGADO POR ESCOLHER O NOSSO PORTA-CARGAS EMPILHADOR GEMINADO.
PARA SUA SEGURANGA E BOM FUNCIONAMENTO, LEIA COM ATENGAO O PRESENTE
MANUAL DE UTILIZADOR ANTES DE O UTILIZAR.

NOTA: Todas as informagdes presentes neste documento foram redigidas com base
nos dados disponiveis aquando da impressao. Reserva-se o direito a fabrica de alterar
os seus produtos a qualquer momento sem aviso prévio e sem incorrer em qualquer
sancdo. Queira verificar junto da fabrica a existéncia de atualizacdes.

1. Aplicacao

O porta-cargas empilhador geminado foi projetado para a elevacdo e transporte de
armarios e outros objetos volumosos. Por este motivo, os seus apoios estdo revestidos
de espuma de borracha para prevenir que as mercadorias a serem transportadas
sejam danificadas.

Como o porta-cargas empilhador geminado consiste em duas unidades, os objetos
retangulares de comprimento varidvel podem ser deslocados utilizando um espaco
minimo. Devido ao peso do armario na plataforma, este ficard preso na posicdo
correta quando as unidades estiverem na vertical e a estrutura da plataforma estiver
em contacto com as suas laterais.

A cinta de fixacao, a qual tem de estar corretamente apertada em ambos os lados, é
uma um acessorio adicional de absoluta necessidade.

As pegas de direcdo possuem um bloqueio completo de 180° o que significa que
as mercadorias podem ser transportadas em todas as dire¢des. As plataformas sao
elevadas através da utilizacdo da alavanca da bomba; esta alavanca nao devera ser
utilizada para puxar ou empurrar o BIMOBIL. A plataforma é baixada rodando a valvula
manual do sistema hidraulico compacto no sentido anti-horario. Devera prestar
especial atencdo ao baixar a plataforma, uma vez que a velocidade da mesma depende
da abertura da valvula, bem como do peso da mercadoria a ser transportada. Antes
de acionar o sistema para elevar as plataformas, a vélvula deve ser rodada no sentido
horério e certificar-se que esta esta fechada.

Se o utilizar corretamente, 0 nosso porta-cargas empilhador geminado ird assisti-lo na
deslocacao de armérios, mobiliario, etc., de uma forma rapida e em seguranca.

2. Especificacoes

Modelo Capacidade Altura de Tamanho de Peso liquido
elevacgao placa de elevacao

A170124 1800 kg 250 mm 600 x 60mm 86 kg




3. Montagem

Retire o pino do garfo na extremidade livre da haste da calha, monte as pegas de
direcdo paralelamente umas as outras e empurre o garfo da haste da calha sobre o
braco da pega de direcdo. Em seguida, substitua o anteriormente removido pino do
garfo através do garfo e braco e fixe-a com anel bipartido.

Devera proceder da mesma forma para montar a segunda unidade.

4. Precaucoes e Preparacao

4.1 O piso deve ser totalmente plano, liso e limpo. Nao deverao existir inclinacdes
ou declives que necessitem de ser transpostos. Certifique-se que o piso e o seu
revestimento sao resistentes o suficiente para aguentar a carga imposta pelo
peso do mobilidrio a ser transportado.

4.2 Verifique se o armario ou mobilidrio a serem transportados contém objetos
soltos. Estes terao de ser removidos ou fixados para ndo deslizarem para fora da
sua posicao.

4.3  Verifique se o mobilidrio é resistente o suficiente para que os dois lados opostos
aguentem o peso da peca através do transporte realizado pelas plataformas
das unidades, e se os apoios superiores das unidades de transporte podem
sustentar o mobilidrio a ser transportado sem o danificar.

4.4  Averigue qual o peso do mobilidrio a ser transportado. Ndo deve ser excedida a
carga maxima de 1800 kg/par = 900 kg para cada unidade.

45 Encontre o centro de gravidade do mobiliario a ser transportado. Ao longo da
base do mobiliario, é determinante para a carga que uma unidade de transporte
Unica a possa suportar, em toda a base, no centro da unidade de transporte
e, em relacdo a altura, para o momento da inclinagdo que ocorre quando se
desloca o mobilidrio. Quando em utilizacdo, a altura do centro de gravidade néo
deve ultrapassar 0,8 m. A distancia de uma unidade de transporte para a outra
nao deve ser inferior a 0,5 m e nunca superior a 4,0 m (com fornecimento das
cintas de fixacao).

4.6 Nunca utilize este equipamento como reboque de um veiculo.

5. Funcionamento

Antes da utilizacao, as funcionalidade dos componentes de transporte devem ser
verificadas assim como a unidade em busca de qualquer dano. Se se verificarem danos
visiveis, os componentes nao deverao ser utilizados. As pecas danificadas deverao ser
substituidas.

Como o porta-cargas empilhador geminado esta dividido em duas pecas, é necessario
que este seja operado por duas pessoas.




Antes de transportar os armarios, as plataformas devem ser baixadas até ao chao e até
que as unidades de transporte estejam na vertical. Empurre a plataforma das unidades
sob as faces laterais (faces estreitas) do armario até que a parte superior e inferior da
estrutura da plataforma de transporte estejam encostadas. Os centros da plataforma
devem estar por baixo do centro de gravidade do armario.

Coloque as cintas de fixacdo na posicdo correta e aperte-as. As cintas irdo ligar as
duas unidades e, quando utilizadas corretamente, impedi-las de sair da sua posicao.
Aqui, as extremidades da cinta devem estar sob tensao direta, isto é, as cintas nao
devem estar a puxar nas extremidades de um armario, etc. Se necessario, deve ser
utilizada uma cinta adicional em seu redor. Estas devem ser introduzidas através dos
aros para as cintas presentes nas unidades. No entanto, a saliéncia maxima nao deve
ser superior a 200 mm.

Eleve a plataforma até cerca de 1 cm e verifique cuidadosamente se o armario a ser
transportado se encontra estabilizado nas plataformas. Talvez deva ser realizado
algum ajuste.

Ambas as plataformas devem ser elevadas ao mesmo tempo e na mesma proporgao.
Para o transporte, a altura em relagdo ao chdo devera ser até um maximo de apenas
2 cm. Ao deslocar os armarios, empurre apenas as unidades de transporte e escolha
o caminho para a nova posicao do armario para que, se possivel, este apenas seja
deslocado longitudinalmente. Quando deslocar os armérios de lado, tenha sempre o
maior cuidado; ha um grande risco de os armarios se inclinarem.

O armario a ser transportado ndo deve ser deixado sem vigilancia quando montado
no equipamento; devera ser sempre baixado até ao chao.

As cintas de fixacdo apenas deverao ser soltas quando o armdrio a ser transportado,
ou as plataformas, estejam assentes no chao.

Nunca utilize este equipamento como reboque de um veiculo.

6. Cuidado e Manutencao

O nosso porta-cargas empilhador geminado apenas requer um pouco de cuidado
e manutencao, mas estas operacoes deverdo ser realizadas de forma regular.
Dependendo da sua utilizacdo, os eixos e rodas de engrenagem devem ser lubrificadas
semanalmente ou mensalmente.




7. Lista de pecas e Figura Imagem explodida

Para altura de elevagao de 250MM (A170124)

N.c Descricao Qtde] N.° Descricao Qtde.
01 | Cobertura anti pé 4 | 15 | Parafuso M6x20 2
02 | Almofada 2 | 16B | Anel bipartido 8 2
03 | Contraporca M10 2 | 17B | Pino 1
04 | Fita de tecido 1 | 18 | Anelantipd 2
05 | Parafuso M10x70 2 | 19 | Rolamento 8204 2
06B | Estrutura de elevacao 1 | 20B | Haste de apoio 2
07 |Cintas de carga 1 21 Parafuso M12x85 2
08B | Estrutura de apoio 1 |22 | Anilha12 2
09 | Anilha de nylon 2 | 23 | Anilha de pressao 12 2
10 | Pino de mola cilindrico ®6x30 | 2 | 24 | Porca M12 2
11 | Conj.de pega 2 | 25 | Bucha 4
12 | Tubo de pega 1 | 26 | Bucha 2
13 | Anel bipartido 9 2 | 27 | Rolamento 2
14B | Macaco hidraulico 1 | 28 | Roda 2




SVENSKA

Bruksanvisning

A170124

® HYDRAULISK MOBELTRANSPORTOR 1800 KG

== /ﬁ\
’f//ﬁ
7z

All youneed. With love.

ZAC du Parc des Tulipes

www.manutan.fr

Avenue du 21¢ siecle - 95500 GONESSE - Frankrike




INNEHALLSFORTECKNING

Anvandning
Specifikationer
Montering

Forsiktighetsatgarder och
forberedelser

Drift
Skotsel och underhall

Sprangskiss och reservdelslista
For lyfthjd 250 mm (A170124)

A 0BS!

Den hydrauliska mobeltransportéren dr endast avsedd for att flytta
tunga eller skrymmande féremal. All annan anvandning kan leda till
att enhetens komponenter eller anvandare skadas.




TACK FOR ATT DU VALT VAR HYDRAULISKA MOBELTRANSPORTOR. FOR DIN EGEN
SAKERHET OCH KORREKT DRIFT, SKA DU NOGGRANT LASA DENNA BRUKSANVISNING
INNAN ANORDNINGEN ANVANDS.

OBS! All information i detta dokument baseras pa sadana data som fanns tillgangliga
vid tryckningen. Fabriken forbehaller sig ratten att andra sina egna produkter nar som
helst utan foregaende meddelande och utan att drabbas av nagon paféljd. Kontrollera
hos tillverkaren om det finns ndgra uppdateringar.

1. Anvdndning

Méobeltransportéren har utvecklats for att lyfta och flytta skap och andra stora
regelbundna foremal. Darfor ar stoden tackta med skumgummi for att skydda godset
som transporteras mot skador.

Eftersom den hydrauliska mdbeltransportéren bestar av tva delar, kan rektanguldra
foremal av olika langd transporteras i ett begransat utrymme. Pa grund av skapets vikt
pa plattformen, star det kvar i positionen nar enheterna star vertikalt och plattformens
ram dr i kontakt med dess sidor.

Det ar absolut nodvandigt att spannbandet fasts korrekt pa bada sidor.

Styrhandtagen kan vridas 180°, det innebdr att godset kan transporteras at valfritt
hall. Plattformarna lyfts genom att pumpens spak aktiveras. Denna spak far inte
anvandas for att dra eller knuffa en BIMOBIL. Plattformen sdnks genom att det
kompakta hydraulsystemets manuella utlésningsventil vrids moturs. Man maste vara
mycket forsiktig nar plattformen sénks, eftersom hastigheten paverkas av ventilens
Oppning och vikten for det som transporteras. Innan du pumpar upp systemet for att
hoja plattformarna maste ventilen vridas medurs. Se till att den &r stangd.

Om du anvéander den korrekt kommer din hydrauliska mobeltransportér att vara till
stor hjalp om du snabbt och sakert vill flytta skdp eller andra mdobler.

2. Specifikationer

Modell Kapacitet Lyfthojd Lastplanets storlek| Nettovikt

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montering

Ta bort gaffelns stift i den fria anden av parallellstaget, placera styrhandtagen parallellt
mot varandra och tryck parallellstagets gaffel 6ver styrhandtages arm. Satt darefter
tillbaka det tidigare avlagsnade gaffelbulten genom gaffeln och armen och las med
den delade ringen.

Den andra enheten monteras likadant.

4. Forsiktighetsatgarder och forberedelser

4.1  Golvet maste vara helt plant, jamnt och rent. Det far inte finnas nagra lutningar
eller fall dar transport sker. Se till att underlaget pa vilket transport sker klarar av
vikten fér det som ska transporteras.

42 Kontrollera att skdpet eller det som ska transporteras inte innehaller 16sa
foremal. Sddana ska avlagsnas eller sdkras sa de inte kommer i rorelse.

4.3  Kontrollera att méblerna som ska transporteras ar tillrackligt starka for att tva
motstaende sidor ska kunna ta upp vikten av foremalet via moébeltransportérens
plattformar, och om mébeltransportérens 6vre del stottar moblerna som ska
transporteras utan att de skadas.

44  Kontrollera hur tunga moblerna ar som ska transporteras. Du far inte 6verskrida
den maximala belastningen om 1800 kg/par = 900 kg for varje enhet.

4.5 Kontrolleratyngdpunkten for méblerna som ska transporteras. Lings moblernas
bas ar det viktigt att lasten som en enda transportenhet kan bara langs basen
befinner sig mitt pa transportenheten och star stabilt i relation till hojden for att
kunna hantera den lutning som uppkommer nar mébler flyttas. Nar den anvands
far tyngdpunkten inte 6verstiga 0,8 m. Avstandet mellan transportenheterna far
inte vara lagre @n 0,5 m och inte mer dn 4,0 m (méblernas spannband).

4.6 Dufarinte dra denna anordning bakom ett fordon.

5. Drift

Innan den anvands ska du kontrollera att komponenterna fungerar och att de ar
oskadade. Om det finns synliga skador, ska komponenterna inte anvéndas. Skadade
delar maste bytas ut.

Eftersom den hydrauliska mobeltransportoren bestar av tva delar, kravs det tva
personer for att anvanda den.




Innan du transporterar skap ska plattformarna sdnkas ned till golvet tills
transportenheterna star vertikalt. Tryck enheternas plattformar under sidorna pa
skapet (kortsidorna) tills toppen och botten av transportplattformen vilar mot det.
Plattformens mitt maste ligga under skdpets tyngdpunkt.

Placera spannbanden i 6nskad position och dra at dem. Spannbanden binder samman
bada enheter och nar de anvands korrekt forhindrar de att de glider ut ur sina lagen.
Har maste spannbanden vara strackta, det vill sdga banden far inte ligga runt hornet
pa ett skap etc. Vid behov maste ett extra spannband anvandas. Det maste matas
genom enheternas 6glor. Det maximala éverhdnget far dock inte dverstiga 200 mm.

Pumpa upp plattformen, cirka T cm och kontrollera att skapet som ska transporteras
star stabilt pa plattformarna. Du kan behdva justera det.

Bada plattformar maste hojas samtidigt och lika mycket. For sjdlva transporten ska
avstandet till golvet hogst vara 2 cm. Nar du flyttar skap ska du endast skjuta pa
transportenheterna och vilja transportvédgen till skapets nya uppstéllningsplats sa att
det, om mojligt, endast flyttas pa langden. Om du flyttar skap sidledes, ska du alltid
vara mycket forsiktig. Risken finns att skapet valter.

Skapet som transporteras far inte lamnas utan Overvakning pa utrustningen. Det
maste alltid sankas ned till golvet.

Spannbanden far inte lossas nar skapet transporteras, eller plattformarna star pa
golvet.

Du far inte dra denna anordning med ett fordon.

6. Skotsel och underhall

Var hydrauliska mdbeltransportor kraver endast begransad service och begransat
underhall, men detta maste utféras regelbundet. Beroende pa anvandning, maste
axlarna och drivhjulen smérjas varje vecka eller manad.




7. Reservdelslista och sprangskiss

For lyfthojd pa 250 mm (A170124)

Nr. Beskrivning Kvant, Nr. Beskrivning Kvant.
01 | Dammtatt skydd 4 |15 | Skruv M6x20 2
02 |Underlagg 2 | 16B | Delad ring 8 2
03 | Lasmutter M10 2 | 17B | Bult 1
04 |Vavtband 1 18 | Dammtat ring 2
05 | Skruv M10x70 2 19 | Lager 8204 2
06B | Lyftram 1 | 20B | Barstang 2
07 | Fastdon 1 21 | Skruv M12x85 2
08B | Stodram 1 22 | Bricka 12 2
09 | Nylonbricka 2 | 23 | Fjaderbricka 12 2
10 | Spiralfjadertapp ®6x30 2 | 24 | Mutter M12 2
11 | Handtag 2 | 25 | Bussning 4
12 | Handtagets skaft 1 26 | Bussning 2
13 | Delad ring 9 2 | 27 | Lager 2
14B | Hydraulisk domkraft 1 |28 | Hjul 2




DANSK

Brugsanvisning

A170124

B HYDRAULISK M@BELTRANSPORT®@R 1800 KG

== /ﬁ\
’f//ﬁ
7z

All youneed. With love.

ZAC du Parc des Tulipes

www.manutan.fr

Avenue du 21¢siecle - 95500 GONESSE - Frankrig




INDHOLDSFORTEGNELSE

Brug

Specifikationer

Montering

Forsigtighedsforanstaltninger og forberedelser
Drift

Vedligeholdelse og pleje

Eksplosionstegning og reservedelsliste Til laftehgjde 250 mm (A170124)

A BEMARK!

Den hydrauliske magbeltransporter er kun beregnet til at flytte tunge
elleruhdndterlige genstande. Alanden brug kan medfare, at enhedens
komponenter eller brugere skades.




TAK, FORDI DU HAR VALGT VORES HYDRAULISKE M@BELTRANSPORT@R. AF HENSYN
TIL DIN EGEN SIKKERHED OG KORREKT DRIFT SKAL DU LASE DENNE BRUGSANVISNING
OMHYGGELIGT, INDEN DU ANVENDER DEN.

BEMARK! Al information i dette dokument er baseret pa de data, der var tilgeengelige
ved trykningen. Fabrikken forbeholder sig retten til at 2endre sine egne produkter nar
som helst uden forudgaende meddelelse, og uden at det kan fa juridiske konsekvenser.
Kontrollér hos producenten, om der findes opdateringer.

1. Anvendelse

Mgbeltransportgren er udviklet til at lafte og flytte skabe og andre store regulaere
genstande. Derfor er stgtterne daekket med skumgummi for at beskytte godset, som
transporteres, mod skader.

Da den hydrauliske mgbeltransporter bestar af to dele, kan rektangulzere genstande
af forskellig laengde transporteres pa begraenset plads. P4 grund af skabets vaegt pa
platformen bliver det stdendei positionen, ndrenhederne star vertikalt, og platformens
ramme er i kontakt med dets sider.

Det er absolut ngdvendigt, at speendebandet fastgeres korrekt i begge sider.

Styrehdndtagene kan vendes 180° sa godset kan transporteres i valgfri retning.
Platformene lgftes, ved at pumpens arm aktiveres. Denne arm ma ikke anvendes
til at treekke eller skubbe en BIMOBIL. Platformen sankes, ved at det kompakte
hydrauliksystems manuelle udlgsningsventil drejes mod uret. Man skal veere meget
forsigtig, ndr platformen saenkes, da hastigheden pavirkes af ventilens dbning
og vaegten af det, der transporteres. Inden du pumper systemet op for at haeve
platformene, skal ventilen drejes med uret. Sgrg for, at den er lukket.

Hvis du anvender den korrekt, vil din hydrauliske mgbeltransportgr veere en stor
hjeelp, nar du skal flytte skabe eller andre mgbler hurtigt og sikkert.

2. Specifikationer

Model Kapacitet Loftehgjde |Lastefladens storrelse| Nettoveegt

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montering

Fjern gaflens stift i den frie ende af parallelstaget, placer styrehdndtagene parallelt
med hinanden, og tryk parallelstagets gaffel over styrehdndtagets arm. Set derefter
den tidligere flernede gaffelbolt tilbage gennem gaflen og armen, og las med den
delte ring.

Den anden enhed monteres pa samme made.

4. Forsigtighedsforanstaltninger og forberedelser

4.1 Gulvet skal vaere helt plant, jeevnt og rent. Der ma ikke vaere haeldninger eller
fald, hvor transporten foregar. Kontrollér, at underlaget, pa hvilket transporten
foregar, holder til vaegten af det, der skal transporteres.

42 Kontrollér, at skabet eller det, som skal transporteres, ikke indeholder lgse
genstande. Sadanne skal fiernes eller sikres, sa de ikke kommer i bevaegelse.

43 Kontrollér, at mgblerne, som skal transporteres, er tilstraekkeligt staerke til, at
to modstaende sider kan baere vaegten af genstanden via mgbeltransporterens
platforme, og at mebeltransportarens gverste del statter mgblerne, som skal
transporteres, uden at de beskadiges.

44  Kontrollér, hvor tunge meblerne er, som skal transporteres. De ma ikke
overskride den maksimale belastning pa 1800 kg/par = 900 kg for hver enhed.

4.5 Kontrollér tyngdepunktet for meblerne, som skal transporteres. Langs
mgblernes basis er det vigtigt, at lasten, som en enkelt transportenhed kan
baere langs med basen, befinder sig midt pa transportenheden og star stabilt
mht. hgjden for at kunne handtere den heeldning, som forekommer, nér mebler
flyttes. Nar den anvendes, ma tyngdepunktet ikke overstige 0,8 m. Afstanden
mellem transportenhederne ma ikke vaere mindre end 0,5 m og ikke mere end
4,0 m (mgblernes spaendeband).

4.6  Du ma ikke treekke denne anordning efter et koretgj.

5. Drift

Inden produktet anvendes, skal du kontrollere, at komponenterne fungerer, og
at de er intakte. Hvis der findes synlige skader, ma komponenterne ikke anvendes.
Beskadigede dele skal udskiftes.

Da den hydrauliske mgbeltransporter bestar af to dele, kraeves der to personer for at
benytte den.




Inden du transporterer skabe, skal platformene saenkes ned til gulvet, indtil
transportenhederne star vertikalt. Tryk enhedernes platforme ind under hver af
skabets korte sider, indtil toppen og bunden af transportplatformen hviler mod det.
Platformens centrum skal ligge under skabets tyngdepunkt.

Placer speendebandene i gnsket position, og speend dem. Spaendebandene binder
begge enheder sammen, og nar de anvendes korrekt, forhindrer de, at de glider ud
af deres position. Her skal spaendebandene veere strakte; det vil sige, at bandene
ikke ma ligge omkring hjernerne pa et skab etc. Ved behov skal der bruges et ekstra
spaendeband. Det skal feres gennem enhedernes gjer. Det maksimale overhaeng ma
dog ikke overstige 200 mm.

Pump platformen cirka 1 ¢cm op, og kontrollér omhyggeligt, at skabet, som skal
transporteres, star stabilt pa platformene. Det kan vaere nedvendigt at justere det.

Begge platforme skal haeves samtidigt og lige meget. Ved selve transporten
skal afstanden til gulvet hgjst veere 2 cm. Nar du flytter et skab, skal du kun skyde
transportenhederne pa og velge transportvejen til skabets nye opstillingsplads, sa
det om muligt kun flyttes pa langs. Hvis du flytter skabe sidelzens, skal du altid veere
meget forsigtig. Der er risiko for, at skabet vaelter.

Skabet, der transporteres, ma ikke efterlades pa udstyret uden opsyn. Det skal altid
seenkes ned til gulvet.

Spaendebandene ma ikke lgsnes, nar skabet transporteres, eller platformene star pa
gulvet.

Du ma ikke traekke denne anordning med et keretgj.

6. Vedligeholdelse og pleje

Vores hydrauliske mgbeltransporter kreever kun begraenset service og begraenset
vedligeholdelse, men denne skal udferes regelmaessigt. Afhaengigt af brugen skal
akslerne og drivhjulene smares hver uge eller maned.




7. Eksplosionstegning og reservedelsliste

Til loftehgjde 250 mm (A170124)

Nr. Beskrivelse Antal | Nr. Beskrivelse Antal
01 | Stevteet afskeermning 4 |15 | Skrue M6x20 2
02 | Underlag 2 | 16B | Deltring 8 2
03 | Lasematrik M10 2 | 17B | Bolt 1
04 | Veevet band 1 18 | Stevteet ring 2
05 | Skrue M10x70 2 |19 | Leje8204 2
06B | Lgfteramme 1 20B | Beerestang 2
07 | Forankring 1 21 | Skrue M12x85 2
08B | Stgtteramme 1 22 | Skive 12 2
09 | Nylonskive 2 | 23 | Fjederskive 12 2
10 | Spiralfjedertap @6x30 2 | 24 | Matrik M12 2
11 | Handtag 2 | 25 | Begsning 4
12 | Handtagets skaft 1 | 26 | Bgsning 2
13 | Deltring 9 2 | 27 | Leje 2
14B | Hydraulisk donkraft 1 |28 | Hjul 2




Suomli

Kayttoohje

A170124

® HYDRAULINEN KALUSTEKULJETIN 1800 KG

e
ST l\
’f//ﬁ
7z
All youneed. With love.
ZAC du Parc des Tulipes

Avenue du 21¢ siecle - 95500 GONESSE - Ranska
www.manutan.fr




SISALLYSLUETTELO

Toimintatapa

Tekniset tiedot

Kokoaminen
Turvatoimenpiteet ja valmistelu
Kayttaminen

Huolto ja kunnossapito

Rajaytyskuva ja varaosaluettelo
Nostokorkeus 250 mm (A170124)

A HUOM!

Hydraulinen kalustekuljetin on tarkoitettu vain raskaiden tai tilaa
vievien tavaroiden siirtdmiseen. Kaikenlainen muu kaytto voi johtaa
tuotteen osien tai kdyttdjien vahingoittumiseen.




KITOS, ETTA VALITSIT HYDRAULISEN KALUSTEKULJETTIMEN MEILTA. LUE NAMA
KAYTTO- JATURVALLISUUSOHJEET HUOLELLISESTI ENNEN TUOTTEEN KAYTTOA.

HUOM! Kayttdoppaan kaikki tiedot perustuvat painohetkelld saatavissa olevaan
tietoon. Valmistaja pidattdaa oikeuden muuttaa tuotteitaan koska tahansa ilman
ennakkoilmoitusta ja korvausvelvollisuutta. Tarkasta valmistajalta, onko tuotteesta
annettu paivitettya tietoa.

1. Toimintatapa

Kalustekuljetin on suunniteltu kaappien ja muiden saanndllisten kappaleiden
nostamiseen ja siirtdmiseen. Taman vuoksi tuissa on vaahtokumipinnoite, joka estaa
kuljetusvaurioiden syntymisen.

Koska hydraulinen kalustekuljetin on kaksiosainen, silla voidaan siirtda eripituisia
suorakaiteen muotoisia kalusteita rajallisissa tiloissa. Kalusteen paino kuormatasoilla
pitda kalusteen paikallaan, kun kuljetinyksikdt ovat pystysuorassa ja kuormatasojen
rungot ovat kosketuksessa kalusteen paatyihin.

Kiristyshihnat on ehdottomasti kiinnitettava oikein molemmille puolille.

Ohjauskadensija kdantyy 180° eli tavaraa voi kuljettaa mihin suuntaan tahansa.
Kuormatasoja nostetaan pumppukahvalla. Kahvaa ei saa kdyttda ajoneuvolla
vetdmiseen tai tyontamiseen. Kuormatasot lasketaan kiertdamalla kompaktin
hydraulijarjestelmdn manuaalista kevennysventtiilid vastapdivaan. Kuormatason
laskeminen pitda tehda erittdin varovasti, koska laskunopeuteen vaikuttaa venttiilin
avausasteen lisaksi kuljettavan tavaran paino. Venttiili on suljettava my&tapdivaan
kiertamalld, ennen kuin jarjestelman voi nostaa pumppaamalla. Varmista, etta venttiili
on suljettu.

Oikein kdytettyna hydraulinen kalustekuljetin on erinomainen apuvéline kaappien ja
muiden huonekalujen nopeaan ja turvalliseen siirtamiseen.

2.Tekniset tiedot

Malli Kapasiteetti | Nostokorkeus |Kuormatason koko| Nettopaino

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Kokoaminen

Ota haarukan tappi pois raidetangon vapaasta paastd, sijoita ohjauskahvat
samansuuntaisesti paikoilleen ja paina raidetangon haarukka ohjauskahvojen varsiin.
Asenna sen jalkeen aiemmin irrotettu haarukkapultti takaisin haarukan ja varren lapi,
ja lukitse jaetulla renkaalla.

Kokoa toinen yksikkd samalla tavalla.

4.1

4.2

4.3

44

4.5

4.6

4. Turvatoimenpiteet ja valmistelu

Lattian on oltava tdysin vaakasuora, tasainen ja puhdas. Kuljetusreitilld ei saa
olla kaltevia pintoja tai pudotuksia. Varmista, ettd kuljetusreitin lattia kestaa
kuorman painon.

Tarkasta, ettei kuljetettavassa kalusteessa ole irtonaisia osia. Ne on otettava pois
tai kiinnitettava niin, etteivat ne paase lilkkkumaan.

Tarkasta, ettda kuljetettavien kalusteiden lujuus kestda vastakkaisissa paissa
olevien kuljetinyksikdiden kuormalevyjen tuottaman paineen ja etta
kuljetinyksikoiden yldosat tukevat kalustetta sita vaurioittamatta.

Tarkasta aina kuljetettavan kalusteen paino. Paino ei saa ylittaa tuotteelle
ilmoitettua enimmaispainoa: 1800 kg/pari eli 900 kg yksikkda kohden.

Tarkasta aina kuljetettavan kalusteen painopiste. On tarkead, etta kuljetinyksikon
kantaman kuorman sokkeli sijaitsee kuljetinyksikdn keskelld ja seisoo vakaasti
suhteessa korkeuteen, jotta se kestaa siirron aikana esiintyvan kallistuksen.
Painopiste ei saa olla kdayton aikana yli 0,8 m. Kuljetinyksikdiden minimietaisyys
on 0,5 m ja maksimietaisyys 4,0 m (kalusteiden kiristyshihnat).

Kuljetinta ei saa vetda ajoneuvolla.

5. Kayttaminen

Tarkasta ennen laitteen kayttod, ettd komponentit ovat ehjat ja toimivat oikein.
Komponentteja ei saa kayttad, mikali niissa havaitaan vikaa. Vioittuneet osat on
vaihdettava.

Koska hydraulinen kalustekuljetin koostuu kahdesta osasta, sen kdyttdmiseen
tarvitaan kaksi henkil6a.




Ennen kalusteiden kuljettamista kuormatasot on laskettava lattialle niin, ettd
kuljetinyksikdt ovat pystysuorassa. Tyonna yksikdiden kuormatasot kuljetettavan
kalusteen (lyhyiden) sivujen alle, kunnes tasojen yla- ja alaosat ovat kiinni kalusteessa.
Kuormatason keskikohdan on oltava kalusteen painopisteen alla.

Sijoita kiristyshihnat sopiviin kohtiin ja kirista. Kiristyshihnat sitovat yksikot yhteen,
ja oikein kaytettynd ne estdavat yksikoita liukumasta pois paikoiltaan. Naiden
kiristyshihnojen on oltava suorassa. Ne eivat siis saa kiertaa kuljettavan kalusteen
kulman ympari tms. Tarvittaessa kiinnitykseen on kadytettava ylimaardista hihnaa. Se
viedaan kuljetinyksikoiden silmukoiden lapi. Kuorma saa kuitenkin ylittaa kuljettimen
enintdaan 200 mm:lla.

Nosta kuormatasoja pumppaamalla noin 1 cm ja tarkasta, etta kuljetettava kaluste on
kuormatasojen paalla tukevasti. Sijaintia voi joutua saatamaan.

Kuormatasoja on nostettava yhta aikaa ja yhta paljon. Kuljetuksen aikana etaisyys
lattiaan saa olla korkeintaan 2 cm. Kalusteita saa siirtda vain kuljetinyksikoita
tyontamalla, ja kuljetusreitti on pyrittava valitsemaan niin, ettd kalusteet voidaan siirtaa
uuteen paikkaan vain pituussuunnassa siirtamalla. Kalusteiden mahdollinen sivuttain
siirtdminen on tehtdva aina erittdin varovasti. Vaarana on kalusteen kaatuminen.

Kuljetettavaa kalustetta ei saa jattaa kuljettimeen ilman valvontaa. Se on laskettava
aina lattialle.

Kiristyshihnoja ei saa 0ysdta kuljetuksen aikana, ellei kuormatasoja ole laskettu
lattialle.

Kuljetinta ei saa vetda ajoneuvolla.

6. Huolto ja kunnossapito

Hydraulinen kalustekuljetin tarvitsee huoltoa ja kunnossapitoa vain rajoitetusti,
mutta tarvittavat toimenpiteet on tehtdva saanndllisesti. Akselit ja kdyttopyorat on
voideltava kdyton madrasta riippuen kerran viikossa tai kerran kuukaudessa.




7.Varaosaluettelo ja rdjaytyskuva

Nostokorkeus 250 mm (A170124)

Nro Nimike Lkm | Nro Nimike Lkm
01 | Polytiivis suojus 4 | 15 | Ruuvi M6x20 2
02 |Pohja 2 | 17B | Jaetturengas 8 2
03 | Lukkomutteri M10 2 | 17B | Pultti 1
04 | Kudottu hihna 1 18 | Polytiivis rengas 2
05 | Ruuvi M10x70 2 19 | Laakeri 8204 2
06B | Nostorunko 1 20B | Tukitanko 2
07 | Kiinnike 1 21 Ruuvi M12x85 2
08B | Tukirunko 1 | 22 | Aluslevy 12 2
09 | Nailonaluslevy 2 | 23 | Jousialuslevy 12 2
10 | Kierrejousitappi ®6x30 2 | 24 | Mutteri M12 2
11 | Kahva 2 | 25 | Holkki 4
12 | Kahvan varsi 1 26 | Holkki 2
13 | Jaettu rengas 9 2 | 27 | Laakeri 2
14B | Hydraulinostin 1 | 28 | Pyora 2
,f;;':;:/ll
N
n-"'ﬁi... . I
o P ﬁEi o ‘.rr‘l* ~
-:-:"'l - e -
& $-"
'nf,:,:.-’ Tm
w- " LEN y -
“1m - 13,__. :‘ 2 ‘H .-Hﬁ'
"‘M.:o x 2 ﬁ-\.@l}-\,_ i -
2 e H"x.. az
,) i 25
2, [
] A om
:1%“..:“ v ; ‘; Q_\N?
ﬁ- o m




NORSK

Bruksanvisning

A170124

B HYDRAULISK M@BELTRANSPORT®@R 1800 KG

== /ﬁ\
’f//ﬁ
7z

All youneed. With love.

ZAC du Parc des Tulipes

www.manutan.fr

Avenue du 21¢ siecle - 95500 GONESSE - Frankrike




INNHOLDSFORTEGNELSE

Bruk

Spesifikasjoner

Montering

Sikkerhetstiltak og forberedelser

Drift

Stell og vedlikehold

Sprengtegning og reservedelliste
For loftehgyde 250 mm (A170124)

A 0BS!

Den hydrauliske mgbeltransportgren er kun ment til loft av tunge eller
store gjenstander. Allannen bruk kan fere til at enhetens komponenter

eller bruker skades.




TAKK FOR AT DU HAR VALGT VAR HYDRAULISKE M@BELTRANSPORT@R. AV HENSYN TIL
DIN EGEN SIKKERHET OG KORREKT DRIFT, SKAL DU LESE DENNE BRUKSANVISNINGEN
N@YE FOR DU BRUKER ANORDNINGEN.

OBS! All informasjon i dette dokumentet er basert pa slike data som var tilgjengelige
ved trykking. Fabrikken forbeholder seg retten til a endre sine egne produkter nar som
helst uten varsel og uten a bli rammet av noen sanksjon. Kontroller med fabrikanten
om det finnes noen oppdateringer.

1. Bruk

Mgbeltransportgren er utviklet for a lofte og flytte skap og andre store gjenstander.
Derfor er stottene dekket med skumgummi for a beskytte godset som transporteres
mot skader.

Ettersom den hydrauliske mgbeltransportgren bestar av to deler, kan rektangulaere
gjenstander av ulik lengde transporteres der det er begrenset plass. P& grunn av
skapets tyngde pa transporteren, blir det stdende i stilling ndr enhetene star vertikalt
og plattformens ramme er i kontakt med dets sider.

Det er absolutt pakrevd at spennbdandet festes korrekt pa begge sider.

Styrehdndtakene kan vris 180°, det innebzerer at godset kan transporteres i valgfri
retning. Plattformene lgftes ved a aktivere pumpens spak. Denne spaken ma ikke
brukes til & trekke eller skyve en mgbeltransporter. Plattformen senkes ved at det
kompakte hydraulikksystemets manuelle utlasningsventil vris mot urviseren. Man
ma veere sveert forsiktig nar plattformen senkes, ettersom hastigheten pavirkes av
ventilens apning og vekten av det som transporteres. For du pumper opp systemet
for d lefte plattformene ma ventilen ved med urviseren. Pase at den er stengt.

Hvis du bruker den korrekt, vil din hydrauliske mgbeltransporter veere til stor hjelp
dersom du vil flytte skap eller andre mgbler raskt og sikkert.

2. Spesifikasjoner

Modell Kapasitet Loftehgyde |Lasteplanets storrelse| Nettovekt

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montering

Ta ut gaffelens stift i den ledige enden av parallellstaget, plasser styrehdndtakene
parallelt mot hverandre og trykk parallellstaget over styrehandtakets arm. Sett
deretter tilbake den tidligere fiernede gaffelbolten gjennom gaffelen og armen og las
med den delte ringen.

Den andre enheten monteres pa samme mate.

4.1

4.2

4.3

44

4.5

4.6

4, Sikkerhetstiltak og forberedelser

Gulvet mad veere helt plant, jevnt og rent. Det ma ikke vaere hellinger eller fall der
transporten skjer. Pase at underlaget det transporteres pa taler vekten av det
som skal transporteres.

Kontroller at skapet eller det som skal transporteres ikke inneholder lgse
gjenstander. Slike skal fiernes eller sikres slik at de ikke kommer i bevegelse.

Kontroller at mgblene som skal transporteres er tilstrekkelig sterke til
at to motstaende sider skal kunne ta opp vekten av gjenstanden via
mebeltransporterens plattformer, og at mgbeltransporterens gvre del stotter
meblene som skal transporteres uten at de skades.

Kontroller hvor tunge mgblene som skal transporteres er. Du ma ikke overstige
den maksimale belastningen pa 1800 kg/par = 900 kg for hver enhet.

Kontroller tyngdepunktet for mgblene som skal transporteres. Langs mgblenes
sokkel er det viktig at lasten samlet befinner seg midt pa transportenheten og
star stabilt i forhold til hgyden for & kunne handtere den hellingen som oppstar
nar mgbler flyttes. Nar den brukes, ma ikke tyngdepunktet overstige 0,8 m.
Avstanden mellom transportenhetene ma ikke vzere lavere enn 0,5 m og ikke
mer enn 4,0 m (mablenes spennband).

Du ma ikke trekke denne anordningen etter et kjoretoy.

5. Drift

For den brukes, ma du kontrollere at komponentene fungerer og at de er uskadd. Hvis
det er synlige skader, skal ikke komponentene brukes. Skadde deler ma skiftes ut.

Ettersom den hydrauliske mgbeltransporteren bestdr av to deler, kreves det to
personer for a bruke den.




For du transporterer skap skal plattformene senkes ned til gulvet til transportenhetene
star vertikalt. Trykk enhetenes plattformer under sidene pa skapet (kortsidene) til
toppen og bunnen av transportplattformen hviler mot det. Midten av plattformen ma
ligge under skapets tyngdepunkt.

Plasser spennbandeneignsket posisjon og stram dem.Spennbdndene binder sammen
begge enheter, og nar de brukes korrekt, hindrer de at de glir ut av stilling. Her ma
spennbdndene veere strukket, det vil si at bandene ikke far ligge rundt hjgrnet pa et
skap osv. Ved behov ma det brukes et ekstra spennband. Det ma trekkes gjennom
hempene pd enheten. Det maksimale overhenget ma imidlertid ikke overstige
200 mm.

Pump opp plattformen ca. 1 cm og kontroller at skapet som skal transporteres star
stabilt pa plattformene. Du ma eventuelt justere det

Begge plattformer ma lgftes samtidig og like mye. For selve transporten skal avstanden
til gulvet veere hgyst 2 cm. Nar du flytter skap, skal du bare skyve pa transportenhetene
og velge transportveien til skapets nye oppstillingsplass slik at det, om mulig, bare
flyttes i lengderetning. Hvis du flytter skap sidelengs, ma du alltid vaere sveert forsiktig.
Det er risiko for at skapet velter.

Skapet som transporteres ma ikke bli stdende pa utstyret uten tilsyn. Det ma alltid
senkes ned til gulvet.

Spennbandene ma ikke Igsnes nar skapet transporteres eller nar plattformene star pa
gulvet.

Du ma ikke trekke denne anordningen med et kjoretay.

6. Stell og vedlikehold

Var hydrauliske mgbeltransporter krever kun begrenset service og begrenset
vedlikehold, men dette mad utfgres regelmessig. Alt etter bruk ma akslene og
drivhjulene smgares hver uke eller mdned.




7. Reservedelliste og sprengtegning

For lgftehgyde pa 250 mm (A170124)

Nr. Beskrivelse Ant. | Nr. Beskrivelse Ant.
01 | Stevtett deksel 4 | 15 | Skrue M6x20 2
02 | Underlag 2 | 16B | Deltring 8 2
03 |Lasemutter M10 2 | 17B | Bolt 1
04 |Vevd band 1 18 | Stevtettring 2
05 | Skrue M10x70 2 19 | Lager 8204 2
06B | Lofteramme 1 20B | Beerestang 2
07 | Festeanordning 1 21 | Skrue M12x85 2
08B | Stgtteramme 1 22 | Skive 12 2
09 | Nylonskive 2 | 23 | Fjeerskive 12 2
10 | Spiralfjeertapp ®6x30 2 | 24 | Mutter M12 2
11 | Handtak 2 | 25 | Féring 4
12 | Handtakets skaft 1 | 26 | Foring 2
13 | Deltring 9 2 | 27 | Lager 2
14B | Hydraulisk donkraft 1 |28 | Hjul 2




SLOVENCINA

Pouzivatelska prirucka

A170124

SN
—
7z

All you need. With love.

Eurépske centrum DREDA
ZAC du Parc des Tulipes
Avenue du 21éme Siécle

95500 Gonesse
Francuzsko




OBSAH

Pouzitie

Specifikacie

Montaz

Bezpecnostné opatrenia a priprava
Obsluha

Servis a udrzba

Zoznam sucasti a nakres
Pre vysku zdvihu 250 mm (A170124)

A POZNAMKA:

Hydraulicka stahovacia siprava na ndbytok je ur¢endiba na stahovanie
objemnych ¢i tazkych predmetov. Akékolvek iné pouzitie moéze mat
za nasledok poskodenie sucasti vyrobku alebo poranenie oséb.




MNOHOKRAT DAKUJEME, ZE STE SI ZAKUPILI NASU HYDRAULICKU STAHOVACIU
SUPRAVU NA NABYTOK. Z DOVODU VASEJ BEZPECNOSTI A SPRAVNEHO FUNGOVANIA
TOHTO ZARIADENIA SI PRED JEHO POUZITIM, PROSIM, POZORNE PRECITAJTE TENTO
NAVOD NA OBSLUHU.

POZNAMKA: Vietky informéacie uvedené v tomto dokumente vychadzaju z udajov
dostupnych v case tlace. Vyrobca si vyhradzuje pravo kedykolvek vykondvat zmeny
svojich vyrobkov bez predchadzajuceho upozornenia, a bez toho, aby vo¢i nemu mohli
byt uplatnené akékolvek sankcie. Overte si, prosim, u vyrobcu pripadné aktualizacie.

1. Pouzitie

Hydraulickd stahovacia suprava na nabytok bola vyvinutd na zdvihanie
a premiestriovanie skriri a inych velkych predmetov. Z toho dévodu su jej podpery
potiahnuté penovou gumou, ktord mé zabranit poskodeniu stahovanych predmetov.

Vzhladom na to, ze sa hydraulicka stahovacia suprava skladad z dvoch jednotiek,
je mozné stahovat pravouhlé objekty s réznymi dizkami s minimalnymi narokmi
na priestor. Vdaka svojej hmotnosti ndbytok na plosindch sdm stoji, ked su ploSiny
vo vertikdInej polohe, a rdm plosin je v kontakte s jeho stranami.

Daldim absolutne nevyhnutnym prvkom je poistny popruh, ktory je potrebné
na oboch stranach spravne pripevnit.

Riadiace drzadld su plne oto¢né o 180 °, ¢o znamena, Ze naklad je mozné stahovat
vetkymi smermi. Plodiny sa zdvihaju pomocou péky Cerpadla. Tato padka sa nesmie
pouzivat na tahanie alebo tlacenie stupravy. Plosiny sa spustaju otd¢anim manuélneho
vypustacieho ventilu kompaktného hydraulického systému proti smeru hodinovych
ruciciek. Pri spustani plosin je potrebné davat maximdlny pozor, pretoZe rychlost
spustania zavisi od Strbiny ventilu i od hmotnosti stahovaného nékladu. Pred
napumpovanim systému s ciefom zdvihnutia plosin je nutné ventil otocit v smere
hodinovych ruciciek a uistit sa, i je zatvoreny.

Pri spravnej obsluhe bude nasa hydraulickd suprava rychlym a bezpecnym
pomocnikom pri stahovani skrif, ndbytku atd.

2. Specifikacie

Model Nosnost Vyska zdvihu | Velkost zdvihacej plochy|  Cistd hmotnost

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montaz

Vyberte ¢ap vidlice na volnom konci tyce vozika, nastavte riadiace drzadla
do vzajomne rovnobeZnej polohy a vidlicu tyce vozika nasurite na rameno riadiaceho
drzadla. Potom pretiahnite skoér odstraneny ¢ap vidlice vidlicou a ramenom a zaistite
ho delenym krdzkom.

Druha jednotka sa zmontuje rovnakym spésobom.

4.1

4.2

43

44

4.5

4.6

4, Bezpecnostné opatrenia a priprava

Podlaha musi byt absolttne rovna, hladka a cista. Nesmu sa na nej vyskytovat
Ziadne svahovité alebo Sikmé miesta, cez ktoré by bolo nutné prechadzat.
Presvedcte sa, ¢i podlaha a podlahova krytina vydrzi zatazenie sposobené
hmotnostou stahovaného nabytku.

Skontrolujte, ¢i premiesthiovana skrina alebo kus nabytku neobsahuje nejaké
volné predmety. Tie je nutné vybrat alebo zaistit proti vyklznutiu.

Skontrolujte, ¢i je ndbytok dost silny na to, aby jeho hmotnost uniesli jeho
dve protilahlé strany na prepravnych jednotkach, a ¢i horné podpery tychto
jednotiek ndbytok udrzia bez toho, aby ho poskodili.

Zistite hmotnost kusa ndbytku, ktory sa ma stahovat. Nesmie sa prekrocit
maximalna nosnost 1 800 kg/par = 900 kg na kazdu jednotku.

Najdite taZisko kusa nabytku, ktory sa mé stahovat. Je délezité, aby obe
prepravné jednotky boli schopné uniest tazisko nabytku, a to najma v okamihu
naklonu, ku ktorému déjde pri stahovani ndbytku. Pri stahovani by vyska taziska
nemala prekrocit 0,8 m. Vzajomna vzdialenost prepravnych jednotiek nesmie
byt mensia ako 0,5 m a vacsia ako 4,0 m (vzdialenost poistnych popruhov).

Toto zariadenie nikdy nepouzivajte na tahanie za vozidlom.

5.0bsluha

Pred pouzitim zariadenia skontrolujte funkénost a pripadné poskodenie transportnych
sucasti. Pokial'su na niektorych sucastiach viditelné chyby, nepouzivajte ich. Poskodené
sUcasti je nutné vymenit.

Vzhladom na to, Ze sa hydraulicka stahovacia suprava sklada z dvoch casti, su na jej
obsluhu potrebné dve osoby.




Pred stahovanim nabytku je nutné spustit plosiny dole k podlahe, aby jednotky stali
vo vertikdlnej polohe. Zasurite plosiny jednotiek pod boc¢né (uzsie) strany nabytku tak,
aby sa hornd i spodna cast rdmu stahovacej jednotky nabytku dotykali. Stred plosin
musi byt nizsie ako tazisko nabytku.

Pripevnite poistné popruhy a dotiahnite ich. Popruhy obe jednotky spoja a pri
spravnom pouziti im zabrania vo vykiznuti zo spravnej polohy. Konce popruhov musia
byt spravne napnuté, to znameng, Ze sa nesmu viest okolo rohov nabytku. Ak je to
nutné, je potrebné pouzit dalsi popruh. Ten je nutné pretiahnut slu¢kami popruhov
prepravnych jednotiek. Aviak ich previs nesmie byt vacsi ako 200 mm.

Pumpovanim zdvihnite plosiny asi o 1 cm a starostlivo skontrolujte, ¢i stahovany kus
nabytku stoji na plosinach stabilne. Mozno bude nutna urcitd uprava.

Obe plosiny je potrebné zdvihat sucasne a do rovnakej vysky. Pri samotnom transporte
musi byt vyska od podlahy iba maximalne 2 cm. Pri stahovani ndbytku posuvajte iba
stahovacie jednotky a trasu k novému umiestneniu nabytku zvolte pokial mozno tak,
aby sa nabytok pohyboval iba pozdizne. Pri stahovani nabytku prie¢ne budte vzdy
maximalne opatrni, existuje velké riziko, ze sa ndbytok prevrati.

Prepravovany kus nabytku sa nesmie ponechat na tomto zariadeni bez dozoru. Je
potrebné ho vzdy spustit na podlahu.

Poistné popruhy je mozné odpojit az vtedy, ked stahovany nabytok alebo plosiny
stoja na podlahe.

Toto zariadenie nikdy nepouzivajte na tahanie za vozidlom.

6. Servis a udrzba

Tato hydraulicka stahovacia suprava nevyzaduje vela starostlivosti a udrzby, udrzbu
je viak potrebné vykonavat pravidelne.V zavislosti od pouzivania zariadenia je nutné
kazdy tyzden alebo mesiac mazat hriadele a ozubené kolesa.




Pre vysku zdvihu 250 mm (A170124)

7.Zoznam sucasti a nakres

C. Popis Mn. | C. Popis Mn.
01 | Protiprachovy kryt 4 | 15 | Skrutka M6 x 20 2
02 | Oblozenie 2 | 16B | Deleny kruzok 8 2
03 | Poistna matica M10 2 | 17B | Cap 1
04 | Tkany pruzok 1 | 18 | Protiprachovy krazok 2
05 | Skrutka M10x 70 2 | 19 | Lozisko 8204 2
06B | Zdvihaci ram 1 | 20B | Nosna ty¢ 2
07 | Prichytenie nédkladu 1 | 21 | Skrutka M12 x 85 2
08B | Nosny ram 1 | 22 | Podlozka 12 2
09 | Nylonova podlozka 2 | 23 | Perova podlozka 12 2
10 | Cap 3$piralovej pruzing@6x30 | 2 | 24 | MaticaM12 2
11 | Zostava drzadla 2 | 25 | Priechodka 4
12 | Trubica drzadla 1 | 26 | Priechodka 2
13 | Deleny kruzok 9 2 | 27 | Lozisko 2
14B | Hydraulicky zdvihak 1 | 28 | Koleso 2




MAGYAR

Felhasznaléi kézikonyv

A170124

® HIDRAULIKUS BUTORMOZGATO 1800 KG

SN
—
7z

All you need. With love.

DREDA Eurdépai Kézpont
ZAC du Parc des Tulipes
Avenue du 21éme siécle
95500 GONESSE
Franciaorszag




TARTALOMJEGYZEK

Alkalmazas

MUszaki adatok

Osszeszerelés
Ovintézkedések és el6készités
Uzemeltetés

Apolas és karbantartés

Alkatrészek listdja és robbantott dbra 250
MM emelési magassaghoz (A170124)

A MEGJEGYZES:

A hidraulikus butormozgaté allvanyt a nagyméreti és nehéz targyak
mozgatasara tervezték. Minden mds hasznalat kart okozhat a termék
alkatrészeiben, vagy személyi sériiléshez vezethet.




KOSZONJUK, HOGY EZT A HIDRAULIKUS BUTORMOZGATONKAT VALASZTOTTA. AZ ON
BIZTONSAGA ES A MEGFELELO MUKODES ERDEKEBEN KERJUK, HOGY FIGYELMESEN
OLVASSA EL EZT A HASZNALATI UTASITAST A BERENDEZES HASZNALATA ELOTT.

MEGJEGYZES: Az itt kozolt informaciok a nyomtatéas idépontjaban rendelkezésre
allé adatok alapjan lettek 6sszedllitva. A gyar fenntartja magénak a jogot arra, hogy
el6ézetes értesités nélkil és kartéritési felelésségvallalas nélkil, barmikor moédositsa a
termékeit. Kérjlk, ellenérizze, hogy vannak-e gyari frissitések.

1. Alkalmazas

A kézi butormozgatét szekrények és mas nagyméret(, szabalyos targyak emelésére és
szallitasara alakitottak ki. Ezért a tart6i habgumival vannak bevonva, hogy a szallitaskor
a széllitott targyak ne sériljenek meg.

Mivel a hidraulikus butormozgaté két egységbdl all, kilonbdzé hosszusagu
négyszogletl targyak mozgathaték minimalis helykihasznaldssal. A rakoddlapon l1évé
kamra sajat tomegének koszonhetéen megall, ha az egységek fliggbleges helyzetben
vannak, és a rakodélapok vazanak széle 6sszeér.

A rogzité szij, amelyet helyesen meg kell szoritani mindkét oldalon, egy feltétlenil
sziikséges kiegészito.

A kormanykerék teljesen elfordithatd 180°-ban, ami azt jelenti, hogy az dru minden
irdanyba szallithaté. A rakoddlapok a szivattyld karjanak Gzemeltetésével emelheték
meg; ezt a kart tilos a BIMOBIL toldsdhoz vagy huzésahoz hasznalni. A rakodélap a
kompakt hidraulikus rendszer leengedd szelepjének éramutatéd jarasaval ellentétes
iranyba val¢ elforgataséval engedheté le. Kiemelt gondossdggal kell eljarnia rakodélap
leengedésekor, mivel a sebesség a szelep nyitasatdl, valamint a szallitandd &ru sulyatol
fligg. Miel6tt pumpalni kezdené a rendszert a rakodélapok felemeléséhez, a szelepet
el kell forgatni dramutatd jardsaval megegyezé iranyba, és ellendrizni, hogy zérva van.

Ha megfelel6en lGzemelteti, a hidraulikus butormozgaté segiteni fog a szekrények,
butorok stb. gyors és biztonsagos mozgatasaban.

2. Miszaki adatok

Tipus Terhelhet6ség |Emelési magassag| Az emelblap mérete | Nettd suly

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Osszeszerelés

Tavolitsa el a villa csapjat az allvanyrad szabad végénél, allitsa be a kormanyzé
fogantyukat egymdssal parhuzamosra, majd tolja az allvanyrud villajat a kormanyzé
fogantyu karjan keresztul. Majd cserélje ki az el6z6leg eltavolitott csapot a villan és a
karon keresztil, majd rogzitse egy gydrdvel.

A masodik egység Osszeszerelése hasonldan torténik.

4.1

4.2

43

44

4.5

4.6

4. Ovintézkedések és elokészités

A padlénak teljesen vizszintesnek, simanak és tisztanak kell lenni. A berendezést
nem szabad lejtds terlileten Osszeszerelni. Ellenérizze, hogy a padl6é és a
padléburkolat megbirja a szallitand6 butor sulya altal jelentett terhelést.

Ellendrizze, hogy a széllitand6 szekrény vagy butorok ne tartalmazzanak laza,
elmozdulé targyakat. Ezeket el kell tavolitani vagy rogziteni elcsiszas ellen.

Ellen6rizze, hogy a butordarab elég erés ahhoz, hogy a szdllitéegység
rakoddlapjai altal torténé kétoldali felemelés esetén megbirja a darab sulyat,
valamint hogy a szdllitéegység felsé tartdi meg tudjik-e tartani a szallitandé
butordarabot karositas nélkul.

Tudja meg a széllitand6é butordarab sulyat. Az 1800 kg/par = 900 kg
egységenként maximalis terhelést nem szabad tullépni.

Azonositsa a széllitandd butordarab sulypontjat. A butor alapzata alapjan
fontos, hogy az egyes szallitéegység altal elbirt terhet a szallitéegység kdzepére
helyezze, és a magassaggal 6sszefliggésben helyezze el, arra az esetre, amikor
a butordarab mozgatésakor azt meg kell délteni. A hasznalat soran a sulypont
magassaga nem lépheti tul a 0,8 m-t. A két szallitdegység kozotti tadvolsag nem
lehet 0,5 méternél kisebb és 4,0 méternél nagyobb (rogzité szijak biztositasa).

Soha ne hasznalja ezt a berendezést gépkocsival torténé vontatashoz.

5. Uzemeltetés

A haszndlat el6tt a leszallitott alkatrészeket ellendrizni kell, hogy mikddéképesek-e és
nincsenek-e megsériilve. Azokat az alkatrészeket, amelyeken esetleg hibakat fedez fel,
nem szabad hasznalni. A sérlt alkatrészeket ki kell cserélni.

Mivel a hidraulikus butormozgaté két részbél all, két személy sziikséges a
hasznalatdhoz.




A szekrények szdllitdsa el6tt a rakodolapokat le kell engedni a padléig, amig a
szallitéegységek fliggblegesen allnak. Tolja a szdllitéegységek rakoddlapjit a
szekrény oldala (keskeny oldala) ald, mig a szallité rakoddlap teteje és alja nekifekszik
a butordarabnak. A rakodolapok kozéppontjanak a szekrény sulypontja alatt kell
elhelyezkedniik.

Tegye a helyére a rogzit6é szijakat, és szoritsa meg 6ket. A szijak 6sszekotik a két
egységet, és - megfelelé hasznélat esetén - megel6zik, hogy elcsusszanak a helyes
poziciobdl. A szijak végeinek kdzvetlen fesziilés alatt kell lennilik, azaz a szijak nem
keriilhetik korbe a szekrény stb. éleit. Ha szlikséges, egy kiegészit6é koriilvevé szijat
kell alkalmazni. Ezt az egység szijanak hurkain keresztil kell atvezetni. Ennek ellenére,
a maximalis tulnyulas nem haladhatja mg a 200 mm-t.

Pumpdlja fel a rakoddlapot kb. 1 cm-re, és dvatosan ellenérizze, hogy a széllitandd
szekrény stabilan all a rakoddlapokon. Eléfordulhat, hogy sziikség lesz tovabbi
igazitasokra.

Mindkét rakodolapot egyszerre és ugyanarra a magassagra kell felemelni. A szallitasi
magassag a padlotédl maximum 2 cm lehet. A szekrény mozgatasakor csak tolja a
hogy ha lehet csak hosszanti irdnyban mozgassa a butort. Ha keresztiranyban kell
mozgatnia a szekrényt, mindig kiemelt 6vatossaggal jarjon el, mivel nagyon magas a
butor eldélésének kockazata.

A szdllitandé butordarabot soha ne hagyja felligyelet nélkil a szallitbegységen allva,
mindig engedje le a padléra.

A rogzité szijakat csak akkor lehet kilazitani, ha a szallitand6 butordarab vagy a
rakodolapok a padlén allnak.

Soha ne hasznalja ezt a berendezést gépkocsival torténé vontatashoz.

6. Apolas és karbantartas

A hidraulikus butormozgaténk kevés apolast és karbantartast igényel, azonban ezt
rendszeresen el kell végezni. A hasznadlat gyakorisdganak fliggvényében a tengelyeket
és a fogaskerekeket hetente vagy havonta meg kell zsirozni.




7. Alkatrészek listaja és robbantott abra

250 mm emelési magassaghoz (A170124)

Szdm Leiras Menny, Szém Leiras Menny.
01 Porvédo fedél 4 | 15 | Csavar (M6 x 20) 2
02 |Parna 2 | 16B | Dugattyugydri 8 2
03 | Zaréanya (M10) 2 | 17B | Csap 1
04 | Szovet csik 1 | 18 | Porvédé gy(ri 2
05 | Csavar (M10x 70) 2 | 19 | Csapagy 8204 2
06B | Emel6&keret 1 | 20B | TAmasztérud 2
07 | Arakomany régzitése 1 21 Csavar (M12 x 85) 2
08B | Tartévaz 1 |22 | Alatét 12 2
09 | Mianyag alatét 2 | 23 | Rugés alatét 12 2
10 | Hengeralakirugéscsap®6x30| 2 | 24 | Csavaranya M12 2
11 | Fogantyu egység 2 | 25 | Persely 4
12 | Kézicsé 1 | 26 | Persely 2
13 | Dugattyugydri 9 2 | 27 | Csapagy 2
14B | Hidraulikus emel& 1 | 28 | Kerék 2




POLSKI

Podrecznik uzytkownika

A170124

m WOZEK HYDRAULICZNY DO MEBLI 1800 KG

SN
—
7z

All you need. With love.

Centrum europejskie DREDA
ZAC du Parc des Tulipes
Avenue du 21éme Siécle

95500 Gonesse
Francja




SPIS TRESCI

Zastosowanie

Dane techniczne

Montaz

Srodki ostroznosci i przygotowanie
Dziatanie

Pielegnacja i konserwacja

Lista czesci i rysunek ztozeniowy
Dotyczy wysokosci podnoszenia 250 mm (A170124)

AUWAGA:

Woézek hydrauliczny do mebli jest przeznaczony wytacznie do
transportu  duzych lub ciezkich przedmiotéw. Uzytkowanie
w jakikolwiek inny sposéb moze skutkowac uszkodzeniem elementéw
produktu lub obrazeniami ciata.




DZIEKUJEMY ZA WYBOR NASZEGO WOZKA HYDRAULICZNEGO DO MEBLI. DLA
WEASNEGO BEZPIECZENSTWA | PRAWIDEOWEGO DZIALANIA PRODUKTU PRZED
PIERWSZYM UZYTKOWANIEM NALEZY UWAZNIE PRZECZYTACNINIEJSZY PODRECZNIK
UZYTKOWNIKA.

UWAGA: Wszystkie informacje zamieszczone w niniejszym dokumencie sa oparte na
danych dostepnych w chwili wydruku. Producent zastrzega prawo do modyfikowania
swoich produktéw w dowolnejchwilibez powiadomieniaaniponoszeniajakichkolwiek
konsekwencji. Ewentualne zmiany tresci nalezy sprawdzac u producenta.

1. Zastosowanie

Wozek hydrauliczny do mebli jest przeznaczony do podnoszenia i transportu szafek
i innych duzych przedmiotéw o regularnych ksztattach. Z tego wzgledu wsporniki sa
pokryte guma piankowa zapobiegajaca uszkodzeniu przewozonych tadunkéw.

Poniewaz wézek hydrauliczny do mebli sktada sie z dwdch modutéw, mozliwe jest
transportowanie prostokatnych przedmiotéw o réznej dtugosci przy minimalnej
ilosci przestrzeni. Ciezar spoczywajacej na platformie szafki sprawi, ze mebel zachowa
swoje potozenie, gdy oba moduty bedg ustawione pionowo, a rama platformy bedzie
stykac sie z jej bokami.

Ponadto bezwzglednie wymaga sie, aby pas do mocowania byt zapiety starannie po
obu stronach.

Uchwyty kierownicze s wyposazone w petna blokade 180°, co oznacza mozliwos¢
przewozenia tadunkéw w dowolnym kierunku. Do unoszenia platform stuzy
dZzwignia pompy; nie nalezy uzywac tej dZzwigni do ciggniecia lub pchania wézka
BIMOBIL. Platforme obniza sie obracajac reczny zawér spustowy kompaktowego
ukfadu hydraulicznego w lewo. Podczas obnizania platformy nalezy zachowatd
szczeg6lng ostroznos¢, gdyz predkosc zalezy od stopnia otwarcia zaworu i masy
transportowanego tadunku. Przed pompowaniem uktadu w celu uniesienia platform
nalezy obréci¢ zawér w prawo i upewnic sie, ze jest zamkniety.

Prawidtowe korzystanie z wézka hydraulicznego umozliwi szybkie i bezpieczne
przemieszczanie szafek i innych mebli.

2. Dane techniczne

Model Nosnos¢ Wysokos¢ podnoszenia | Rozmiar ptyty nosnej | Waga netto

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montaz

Wyja¢ kotek widet na swobodnym koncu drazka kierowniczego, ustawi¢ uchwyty
kierownicze réwnolegle do siebie, a nastepnie pchna¢ widty drazka kierowniczego
nad ramieniem uchwytu kierowniczego. Wprowadzi¢ wyjety wczesniej kotek przez
widly i ramie oraz zabezpieczy¢ go pierscieniem rozcietym.

Drugi modut jest montowany w taki sam sposéb.

4. Srodki ostroznosci i przygotowanie

4.1 Podtoze musi by¢ catkowicie poziome, gtadkie i czyste. Nie moze zawierac
zadnych pochytosci ani nieréwnosci, mogacych spowodowaé niezamierzony
ruch. Upewnic sie, ze podtoga i jej pokrycie sg w stanie utrzymac obcigzenie
masy transportowanego mebla.

4.2  Sprawdzi¢, czy szafka lub inny transportowany mebel zawiera luzne przedmioty.
Konieczne bedzie usuniecie lub zabezpieczenie ich przed wypadnieciem.

4.3 Nalezy sprawdzi¢, czy mebel jest wystarczajgco wytrzymaty, aby jego dwie
przeciwlegte strony utrzymaty ciezar spoczywajacy na platformach modutu
transportowego i czy gérne podpory modutu transportowego sa w stanie
utrzymac transportowany mebel bez jego uszkodzenia.

44  Okresli¢ mase transportowanego mebla. Nie przekracza¢ maksymalnego
obcigzenia 1800 kg/pare=900 kg na kazdy modut.

45 Okreslic $rodek ciezkosci transportowanego mebla. Srodek ciezkoéci ma
decydujace znaczenie wzdtuz podstawy mebla dla obcigzalnosci pojedynczego
modutu transportowego, w poprzek podstawy dla srodka modutu
transportowego i w zakresie wysokosci mebla w przypadku przechylania
podczas przemieszczania mebli. Podczas eksploatacji wysokos¢ srodka ciezkosci
nie moze przekracza¢ 0,8 m. Odlegtos¢ miedzy modutami transportowymi nie
moze by¢ mniejsza niz 0,5 m ani wieksza niz 4,0 m (meble przypiete pasami
mocujacymi).

4.6 Nie uzywac urzadzenia do holowania za pomoca pojazdu.

5. Dziatanie

Przed uzyciem nalezy sprawdzi¢ dziatanieistantechniczny elementéwtransportowych.
W razie stwierdzenia jakichkolwiek wad nie nalezy korzystac¢ zelementéw. Uszkodzone
czesci nalezy wymienicé.

Poniewaz woézek hydrauliczny do mebli sktada sie z dwdch czesci, jego obstuga
wymaga dwdch osoéb.




Przed transportem szafek nalezy obnizy¢ platformy do podtoza, az moduty
transportowe ustawia sie pionowo. Pchna¢ platforme modutéw pod boki (wezsze
strony) szafki, az zetknie sie z géra i dotem ramy platformy transportowej. Srodki
platform musza znalez¢ sie ponizej srodka ciezkosci szafki.

Zatozy¢ i zabezpieczy¢ pasy mocujace. Pasy potacza oba moduty, a przy
prawidtowym uzytkowaniu uniemozliwig wyslizgniecie sie modutéw. Konce paséw
musza by¢ bezposrednio naprezone, tzn. pasy nie moga uciskac krawedzi szafki itp.
W razie potrzeby nalezy zastosowa¢ dodatkowe opasanie. Nalezy je przeprowadzic¢
przez oka na pasy przewidziane w modutach. W takim przypadku mebel nie moze
wystawac o wiecej niz 200 mm.

Unies¢ platforme o ok. 1 cmi starannie sprawdzi¢, czy transportowana szafka spoczywa
stabilnie na platformach. Konieczne moze by¢ wykonanie pewnych regulacji.

Obie platformy nalezy unie$¢ jednoczesnie i w takim samym stopniu. Dla samego
transportu wysoko$¢ nad podtozem musi wynosi¢ maksimum 2 cm. Podczas
przemieszczania szafek nalezy wylacznie pcha¢ moduly transportowe i wybrac
droge do nowego miejsca na mebel, aby w miare mozliwosci przemieszcza¢ go tylko
wzdtuznie. W przypadku przemieszczania szafki na boki nalezy zachowac szczegdlng
ostroznos¢; istnieje duze ryzyko jej przewrdcenia.

Transportowanej szafki nie nalezy pozostawia¢ bez nadzoru na urzadzeniu, lecz
zawsze obniza¢ na podtoze.

Pasy mocujace mozna otwiera¢ wytgcznie wtedy, gdy transportowana szafka lub
platformy spoczywaja na podtozu.

Nie uzywac urzadzenia do holowania za pomoca pojazdu.

6. Pielegnacja i konserwacja

Woézek hydrauliczny do mebli wymaga niewielkiego naktadu regularnej pielegnacji
i konserwacji. W zaleznosci od intensywnosci uzytkowania raz w tygodniu lub
w miesigcu konieczne bedzie przesmarowanie trzpieni obrotowych i kot zebatych.




7. Lista czesci i rysunek ztozeniowy

Dla wysokosci podnoszenia 250 mm (A170124)

Nr Opis Szt. | Nr Opis Szt.
01 | Ostona pytoszczelna 4 |15 | Sruba M6 x 20 2
02 | Miekka podkfadka 2 | 16B | Pierscien rozciety 8 2
03 | Nakretka zabezpieczajacaM10 | 2 | 17B | Sworzen 1
04 | Pas parciany 1 | 18 | Pierscien pytoszczelny 2
05 |SrubaM10x70 2 | 19 | tozysko 8204 2
06B | Rama nosna 1 | 20B | Pret podporowy 2
07 | Mocowania tadunku 1 |21 | SrubaM12x85 2
08B | Rama podporowa 1 | 22 | Podktadka 12 2
09 | Podktadka nylonowa 2 | 23 | Podkfadka sprezysta 12 2
10 | Kotek sprezynujacy walcowy ®6x30 | 2 | 24 | Nakretka M12 2
11 | Zespét uchwytu 2 | 25 | Tuleja 4
12 | Rurkareczna 1 |26 | Tuleja 2
13 | Pierscien rozciety 9 2 | 27 | tozysko 2
14B | Podnosnik hydrauliczny 1 | 28 | Koto 2




CESTINA

Uzivatelska prirucka

A170124

®m HYDRAULICKA STEHOVACI SADA NA NABYTEK, DO 1 800 KG

SN
—
7z

All you need. With love.

Evropské centrum DREDA
ZAC du Parc des Tulipes
Avenue du 21éme Siécle

95500 Gonesse
Francie




OBSAH

Pouziti

Specifikace

Montaz

Bezpecnostni opatieni a pfiprava
Obsluha

Servis a udrzba

Seznam soucasti a rozkres
Pro vysku zdvihu 250 mm (A170124)

A POZNAMKA:

Hydraulicka stéhovaci sada na ndbytek je ur¢ena pouze pro stéhovani
objemnych ¢i tézkych predmétl. Jakékoli jiné pouziti mize mit za
nasledek poskozeni soucasti vyrobku nebo poranéni osob.




MNOHOKRAT DEKUJEME, ZE JSTE SI ZAKOUPILI NASI HYDRAULICKOU STEHOVACI
SADU NA NABYTEK. Z DUVODU VASI BEZPECNOSTI A SPRAVNEHO FUNGOVANI
TOHOTO ZARIZENI SI PRED JEHO POUZITIM PROSIM PECLIVE PRECTETE TENTO NAVOD
K OBSLUZE.

POZNAMKA: Viechny informace uvedené v tomto dokumentu vychazeji z udajd
dostupnych v dobé tisku. Vyrobce si vyhrazuje pravo kdykoli provadét zmény svych
vyrobkl bez pfedchoziho upozornéni, a aniz by via¢i nému mohly byt uplatnény
jakékoli sankce. Ovérte si prosim u vyrobce pfipadné aktualizace.

1. Pouziti

Hydraulickd stéhovaci sada na nabytek byla vyvinuta pro zvedani a pfemistovani
sk¥ini a jinych velkych predmét. Z toho dlivodu jsou jeji podpéry potazeny pénovou
gumou, kterd ma zabranit poskozeni stéhovanych predmétd.

Vzhledem k tomu, Ze se hydraulickd stéhovaci sada sklada ze dvou jednotek, Ize
stéhovat pravouhlé objekty o rliznych délkach s minimalnimi naroky na prostor. Diky
své hmotnosti ndbytek na plosinach sam stoji, kdyz jsou plosiny ve vertikalni poloze, a
ram plosin je v kontaktu s jeho stranami.

DalSim naprosto nezbytnym prvkem je pojistny popruh, ktery je tfeba na obou
stranach spravné pfipevnit.

Ridici madla jsou plné oto¢na o 180°, coZ znamend, e naklad Ize stéhovat viemi
sméry. Plosiny se zvedaji pomoci paky Cerpadla. Tato pdka se nesmi pouzivat k tazeni
nebo tlaceni sady. Plosiny se spoustéji otd¢enim manudlniho vypoustéciho ventilu
kompaktniho hydraulického systému proti sméru hodinovych rucicek. Pfi spousténi
plosin je tfeba ddvat maximalni pozor, protozZe rychlost spousténi zavisi na Stérbiné
ventilu i na hmotnosti stéhovaného nakladu. Pfed napumpovéanim systému za ic¢elem
zvednuti plosin je nutno ventil otocit ve sméru hodinovych rucicek a ujistit se, zda je
zavieny.

PFi spravné obsluze bude nase hydraulickd sada rychlym a bezpe¢nym pomocnikem
pfi stéhovani skfini, nabytku atd.

2, Specifikace

Model Nosnost Vyska zdvihu | Velikost zvedaci plochy | ~Cistd hmotnost

A170124 1800 kg 250 mm 600 x 60 mm 86 kg




3. Montaz

Vyjméte Cep vidlice na volném konci tyce voziku, nastavte fidici madla do vzajemné
rovnobézné polohy a vidlici ty¢e voziku nasunte na rameno fidiciho madla. Potom
protdhnéte dfive odstranény cep vidlice vidlici a ramenem a zajistéte jej délenym
krouzkem.

Druha jednotka se smontuje stejnym zptisobem.

4.1

4.2

43

44

4.5

4.6

4, Bezpecnostni opatieni a priprava

Podlaha musi byt absolutné rovna, hladkd a cista. Nesmi se na ni vyskytovat
zadna svazita nebo Sikma mista, pfes kterd by bylo nutno prejizdét. Pfesvédcte
se, zda podlaha a podlahova krytina vydrzi zatizeni zplsobené hmotnosti
stéhovaného nabytku.

Zkontrolujte, zda premistovana skiin nebo kus nabytku neobsahuje néjaké
volné predméty. Ty je nutno vyjmout nebo zajistit proti vyklouznuti.

Zkontrolujte, zda je ndbytek dost silny na to, aby jeho hmotnost unesly jeho
dvé protilehlé strany na prepravnich jednotkach, a zda horni podpéry téchto
jednotek nabytek udrzi, aniz by ho poskodily.

Zjistéte hmotnost kusu nabytku, ktery méa byt stéhovan. Nesmi se prekrodit
maximalni nosnost 1 800 kg/par = 900 kg na kazdou jednotku.

Najdéte tézisté kusu nabytku, ktery ma byt stéhovan. Je dulezité, aby obé
prepravnijednotky byly schopny unést tézisté ndbytku, a to zejména v okamziku
naklonu, ke kterému dojde pfi stéhovani nabytku. Pfi stéhovani by vyska tézisté
neméla prekrocit 0,8 m. Vzajemnd vzdalenost prepravnich jednotek nesmi byt
mensi nez 0,5 m a vétsi nez 4,0 m (vzdalenost pojistnych popruh).

Toto zafizeni nikdy nepouzivejte pro tazeni za vozidlem.

5.0bsluha

Pred pouzitim zafizeni zkontrolujte funkcnost a pfipadné poskozeni transportnich
soucasti. Pokud jsou na nékterych soucdstech viditelné vady, nepouzivejte je.
Poskozené soucasti je nutno vyménit.

Vzhledem k tomu, ze se hydraulickd stéhovaci sada sklada ze dvou casti, je k jeji
obsluze zapotiebi dvou osob.




Pfed stéhovanim ndbytku je nutno spustit plosiny doll k podlaze, aby jednotky staly
ve vertikalni poloze. Zasurite plosiny jednotek pod bo¢ni (uzsi) strany nabytku tak, aby
se hornii spodni ¢ast ramu stéhovaci jednotky nabytku dotykaly. Stfed plosin musi byt

nize nez tézisté nabytku.

Pfipevnéte pojistné popruhy a utdhnéte je. Popruhy obé jednotky spoji a pfi sprdvném
pouziti jim zabrani ve vyklouznuti ze spravné polohy. Konce popruhd musi byt
spravné napnuté, to znameng, ze nesmi tdhnout kolem rohd nabytku. Je-li to nutné,
je tfeba pouzit dalsi popruh. Ten je nutno protdhnout smyckami popruh( pfepravnich
jednotek. Avsak jejich previs nesmi byt vétsi nez 200 mm.

Pumpovanim zvednéte plosiny asi o 1 cm a peclivé zkontrolujte, zda stéhovany kus
nabytku stoji na plosinach stabilné. Mozna bude nutna urcita uprava.

Obé plosiny je tieba zvedat soucasné a do stejné vysky. Pfi samotném transportu
musi byt vyska od podlahy pouze maximalné 2 cm. Pfi stéhovani nabytku posouvejte
pouze stéhovaci jednotky a trasu k novému umisténi nabytku zvolte pokud mozno
tak, aby se nabytek pohyboval pouze podélné. Pii stéhovani nabytku pri¢né budte
vzdy maximalné opatrni, existuje velké riziko, Ze se ndbytek prevrati.

Pfepravovany kus ndbytku nesmi byt ponechdn na tomto zafizeni bez dozoru. Je tieba
jej vzdy spustit na podlahu.

Pojistné popruhy je mozné odpojit az tehdy, kdyz stéhovany nabytek nebo plosiny
stoji na podlaze.

Toto zafizeni nikdy nepouzivejte pro tazeni za vozidlem.

6. Servis a udrzba

Tato hydraulickd stéhovaci sada nevyzaduje mnoho péce a udrzby, udrzbu je viak
tfeba provadét pravidelné. V zavislosti na pouzivani zafizeni je nutné kazdy tyden
nebo mésic mazat htidele a ozubena kola.




Pro vysku zdvihu 250 mm (A170124)

7.Seznam soucasti a rozkres

C. Popis Mn. | C. Popis Mn.
01 | Protiprachovy kryt 4 | 15 | Sroub M6 x 20 2
02 | Oblozeni 2 | 16B | Déleny krouzek 8 2
03 | Pojistna matice M10 2 | 17B | Cep 1
04 | Tkany prouzek 1 | 18 | Protiprachovy krouzek 2
05 |Sroub M10x 70 2 | 19 | Lozisko 8204 2
06B | Zvedaci ram 1 | 20B | Nosna ty¢ 2
07 | Uchyceni nakladu 1 |21 | SroubM12x85 2
08B | Nosny ram 1 | 22 | Podlozka 12 2
09 | Nylonova podlozka 2 | 23 | Pérova podlozka 12 2
10 | Cep spiralové pruziny ® 6 x 30 2 | 24 | Matice M12 2
11 | Sestava madla 2 | 25 | Prichodka 4
12 | Trubice madla 1 | 26 | Prachodka 2
13 | Déleny krouzek 9 2 | 27 | LozZisko 2
14B | Hydraulicky zvedak 1 | 28 | Kolo 2




EN

NL

FR

IT

PT

NY%

DA

FI

NO

SK

HU

PL

CS

EN

NL
FR
IT

PT
SV
DA

Please consider our environmental responsability and dispose of this product and its packaging at
a designated recycling point.

Houd rekening met onze verantwoordelijkheid voor het milieu en gooi dit product en zijn ver-
pakking weg op een aangesteld recyclagepunt.

Soyez environnementalement responsable. Apportez ce produit et son emballage dans un endroit
spécifiquement prévu pour leur recyclage.

Per il rispetto dellambiente, smaltire il prodotto e 'imballaggio relativo in un punto di riciclaggio
appropriato.

Por favor tenha em consideracdo a nossa responsabilidade ambiental e descarte este produto e a
sua embalagem no ponto de reciclagem indicado.

Tank pa miljon och skaffa undan den hér produkten och dess emballage vid en for detta avsedd
anldggning for dtervinning.

Teenk pa miljeet, og bortskaf dette produkt og dets emballage pa et anleg, der modtager affald til
genvinding.

Ajattele ympdrist6d ja havitd tdmad tuote ja sen pakkausmateriaalit asianmukaisen kierrityslai-
toksen kautta.

Tenk pa miljoet og deponer dette produktet og dets emballasje pa godkjent gjenvinningsanlegg.

Vezmite, prosim, do Gvahy nasu zodpovednost za Zivotné prostredie a tento vyrobok a jeho obal
zlikvidujte v prislusnom recykla¢nom stredisku.

Kérjiik, 6vja a természetet! A leselejtezett terméket és a csomagold anyagot adja le a kijel6lt sze-
métgyijté helyen ujrahasznositasra.

Prosze pamieta¢ o odpowiedzialnosci producenta za srodowisko naturalne i przekaza¢ produkt
oraz jego opakowanie do odpowiedniego punktu recyklingu.

Vezméte prosim v tvahu nasi zodpovédnost za Zivotni prostfedi a tento vyrobek a jeho obal
zlikvidujte v prislusném recykla¢nim stfedisku.

ST\
Marudan
i

All youneed. With love.
ZAC du Parc des Tulipes
Avenue du 21¢ siecle - 95500 GONESSE - France
www.manutan.fr

ce &

Last updated on 09/2017
Voor het laatst bijgewerkt op 09/2017  FI Péivitetty viimeksi 09.2017
Derniére mise a jour 09/2017 NO Sist oppdatert 09/2017
Ultimo aggiornamento 09/2017 SK Datum poslednej aktualizacie: 9. 2017
Ultima atualizacio em 9/2017 HU Utolsé frissités: 2017.09
Senast uppdaterad 09/2017 PL Ostatnia aktualizacja 09.2017

Senest opdateret 09/2017 CS Datum posledni aktualizace: 9. 2017






